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General instructions:

i)
i)
ii)

iv)

v)

N.B:

(i) a.

Approximately 15 minutes is allotted to read the question paper and revise the

answers.

All questions are compulsory. Internal option/ general option is given in some
questions.

The question paper consists of 18 questions, divided into Units I, II, 11l and IV.

Marks allocated to every question are indicated against it.
Alternate question for the visually impaired has been provided in question
no.13.0ONLY the visually impaired are to attempt this alternate question.

Check that all pages of the question paper are complete as indicated on the top

left side.

UNIT — I (Literature)

Answer the following questions:

Why was Morusa grief stricken? (Mehouvii and Morusa) 3

Why did Gandhiji eventually give up the ambition of becoming an English

gentleman? 3

Why did Macbeth seek out the witches again? 3
Or

Why was it almost impossible to defeat the New Zealand team? (Invictus)

Banguo and Macbeth both receive exciting prophecies from the witches, but
they react in very different ways. How do their reactions reflect their different
personalities and ambition? How do they act towards each other after the

prophecies? 2+3=5
Or

Gandhiji took up various activities to make himself an accomplished

gentleman. What were these activities? 5)

Answer either 5(i) or 5 (ii) or 5 (iii) 5

Read the lines and answer the questions that follow:

For he suddenly smote on the door, even
Louder, and lifted his head:

“Tell them | came, and no one answered,
That I kept my word”, he said.



(i)
(iii)
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(i)  Who do you think ‘them’ refers to in Line 3? 1)
(i)  What was the word that the traveller has kept? 2
(iti)  Is there a suggestion of impatience on the part of the traveller? What
gives you this impression? 2
Or
Describe how Jina and Etiben spent their happy days when they fell in
love. (5)
Give the summary of the poem, ‘The Windhover’. 5)
Do you agree with the poet’s view that it is futile to take pride in one’s birth
and state? Why/ Why not? (Death the Leveller) 5)
“I seen the fearfulest thing”
()  Who is the speaker here? 1
(i) What is the fearfulest thing referred to here? 2

Give a character sketch on Maurya.
Or 3
Why was the mother unable to bless her son, Bartley?

UNIT - Il (Reading)
Read the passage given below and answer the questions that follow:

Keep your watch accurate. For some people, moving up the time on
their watch will help them get up earlier. For others, they will
remember that the time on the watch is wrong and will disregard it
altogether. It may be helpful to set your watch just two minutes ahead
instead of five or ten. Keep a clock, phone, computer or anything that displays
time in each room of your house. One of the easiest ways to run late is simply
by not realizing that the time is passing as quickly as it is.
Set all your clocks and watches to the same time. Don't be an optimist.
Things wusually take longer than what you'd expect, even without
major delays. If you have a dinner appointment at 7.30 p.m., don’t
think you can work till 7 p.m., then take a bath, dress and reach on
time. Realistically, calculate the time you will take at each step and
then add 10 minutes more to allow for unexpected delays, or you
cannot get to your job in time.

Wake up when you are supposed to wake up. Don't hit the snooze
button, keep on lying in bed, and watch TV at the very start of your
day. Maybe try even setting your clock 10 minutes earlier than you
need. If you have difficulty with this, move your alarm clock to
somewhere away from your bed, that way, you have to get up to turn
it off. Commit yourself to being 15 minutes early for everything. If you
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have to reach your place of work at 8:00, don't even tell yourself this.
Just tell yourself (and everyone else who listens - but don't annoy
them or make them think that they are late or early!) "l have to be at
work at 7:45". If you do this, you will be on time even with little
unforeseen delays. You will be on time even with a traffic jam.

(i)  Answer the following questions:

a.  What is one of the easiest ways to run late? 1
b. How can we get to our job on time? 2
c. Mention any two ways to set a wake up alarm. 2
(i)  Find words in the passage that has the same meaning as: 3x1=3

a. exact and correct ,without mistakes
b. one who sees the positive side of things
C. not expected

Read the passage given below and answer the questions that follow:

People who smoke are being hounded out of all public places -
offices, restaurants, educational institutions, buses, trains etc. Away from home
now it is becoming nearly impossible to find a place to smoke. Growing
restrictions and the fear of various diseases caused by tobacco are prompting
many smokers to stop smoking. 19 states in the U.S. have made laws against
smoking. Taxes on tobacco products are being raised. Smoking is banned at
several places. Still the number of smokers is rising in India. More than 25
crore people in India are addicted to tobacco. Also, according to a WHO report
around half of them will die of tobacco related diseases. Unfortunately most
people in India still need a strict warning based on a test report before they
decide to give up smoking. Patients too seek medical help only after they show
serious symptoms of an illness. Some hospitals have set up centres to identify
risk factors among the young so that they can take preventive measures like
giving up smoking early in life.

Tobacco is the second biggest cause of death in the world. It is
responsible for the death of five crore people each year all over the world. Half
of the people who are addicted to tobacco will ultimately be killed by this
addiction. Many people get rid of this habit on their own and those who are
willing to, but can’t, go to de-addiction centres. These centres use counselling,
nicotine replacement therapy and prescriptive drugs to deal with withdrawal
problems. Quitting cold turkey — stopping the use of tobacco at once — works
well but only for those who have control and determination to quit.

(i) Answer the following questions:
a. What prompts smokers to stop smoking?
b. Mention two steps taken to discourage smoking.
c. How do people get rid of their smoking habit? 2

N -
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(if) Complete the following sentences: 6x%2=3
People who smoke are being hounded out of all public places and it is
becoming to find a place to smoke. 19 states in the US have
made against smoking and on tobacco products are
being raised. More than 25 crore people in India are to tobacco.
Most people in India need a strict based on a test report before
they decide to give up smoking. Tobacco is the biggest cause of

death in the world.
Read the poem carefully and fill in the blanks:
Sympathy

| lay in sorrow deep distressed:

My grief a proud man heard,

His looks were cold. He gave me gold

But not a kindly word.

My sorrow passed | paid him back

The gold he gave me.

Then stood erect and spoke my thanks

And blessed his charity.

| lay in want and grief, and pain

A poor man passed my way

He bound my head, he gave me bread :

He watched me night and day

How shall | pay him back him again

For all he did to me?

Oh, gold is great, but greater far is heavenly sympathy.
(Charles Mackay)

Fill in the blanks to complete the summary of the poem: 8xYe=4
The poet was once in deep distress. A rich man who about his
sorrow helped him with gold but uttered no word. When the poet
recovered he repaid the gold of the rich man with for his .
Again, he fell into sorrow. Now, he met a poor man who over him
day and night and gave him and nursed his wounds. When the poet
recovered he could not think of how he could him back. Money can

be repaid but is a heavenly quality which can never be paid back.
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UNIT - 111 (Writing)

11. Answer any one of the following questions in about 60 words: 4

a. You are Joseph, the President of the Cultural Club of Springfield School,
Tuensang. Write a notice to the students of Class X regarding your Annual
picnic programme giving all details of time, date, place etc.

b. You have a three bedroom flat in Dimapur which you want to rent out.
Draft an advertisement in not more than 60 words to be published in
‘Nagaland Page’ under the classified column.

c. You had spent your summer vacation in your uncle’s private estate in
Shillong. You had an adventurous time there with your cousins. Write an
Email to your uncle thanking him for his hospitality and the opportunity for
a memorable experience.

12. Write a paragraph in about 80-100 words on, ‘How to keep healthy’ using the
inputs given: 4

Good health-necessary for success and happiness-rules of healthy living-
proper diet-exercise-fresh air-work-sound sleep-avoidance of bad habits-
peace of mind

13.Based on the visual input given below, write on “ Road Safety” in about 120-
150 words: 5

donotiOnore!

Alternate question only for the visually impaired students: ONLY the
visually impaired students should attempt this question.

Based on the inputs given below, write on “Benefits of regular exercise’ in
about 120-150 words. 5)

keeps the body healthy —improves concentration and focus-strengthens
muscles-stamina- boosts immunity- weight management-increases
energy level- mental stability
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14. Answer any one of the following in about 200 words: 7

15.

16.

17.

18.

a. You are Amit/Rita, the President of the Social Service Club of your school.
Write a letter to the Director of “‘Home of Hope’-an old age home, 56, RD
Road , Mon Town, enquiring how students can contribute for the care of the
old.

b. Social Media has taken the public by storm. If there are advantages of Social
Media, there is a dark side to it as well. Write an article expressing your
views on this for your school magazine.

c. You are John, the school student leader of Hills View School, Phek. Write a
report of the recent golden jubilee celebrations of your school to be
published in the school magazine.

UNIT - IV (Grammar)
Rewrite the given sentences as directed in the brackets: 5x1=5

@ people know as much about computers as Jacob does.
(Fill in the blank with an appropriate quantifier)
(b) Reading increases knowledge.
(State whether the underlined verb is gerund, participle or infinitive)
(c) My friend said :
(Complete the sentence with a Noun Clause)
(d) Mars is known as the red planet.
(Underline the phrase in the sentence)
(e) Mona loves mangoes.
(Identify the verb and state whether it is transitive or intransitive)

Change the narration: 4x1=4

(a) Dave said to me, “Where did you go last weekend?”
(b) Marc told me that he had finished his homework.
(c) The teacher ordered me not to talk to my neighbour.
(d) Chuba said, “What a wonderful painting it is!”

Change the voice: 3x1=3

(a) The terrorists blew up the vehicle.
(b) They have planted some trees.
(c) Coins are being collected by my friend.

State whether the underlined clauses are Adjective Clause or Adverb
Clause: 3x1=3

(a) That man, who is singing on the stage, is my brother.
(b) Memory is deceptive because it is coloured by today’s events.
(c) My mother wore the dress which | had given her.

*hrhkrhkrhkikhkkrhihkihkihkihkikiikiikk



Total number of printed pages: 5

Total marks : 80

2023
SCIENCE

General instructions:

) Approximately 15 minutes is allotted to read the question paper and revise the

answers. The question paper consists of 35 questions in 5 categories.

i)  All questions are compulsory in 1 and 2 marks questions. General choice has

been given in 3 and 5 marks questions.

iii)  Internal choice has been provided in some questions. A student has to attempt

only one of the alternatives in such questions.
iv)  Marks allocated to every question are indicated against it.
V) Alternate questions for the visually impaired students are provided in some

questions. Only the visually impaired students have to attempt such alternate

questions.

N.B: Check to ensure that all pages of the question paper are complete as indicated on the top left

side.

1. Choose the correct answer from the given alternatives:

(@)

(b)

(©)

(d)

(€)

(f)

Which is the reducing agent in the following reaction?
CuO(s) + Ha(g) — Cu(s) + HO(l)

() CuO(s) (i) Hz(9)

(iii)  Cu (s) (iv) HO ()
Oranges and lemons are good sources of

0] nitric acid (i)  tartaric acid
(iii)  citric acid (iv)  acetic acid
Which of the following non-metal is lustrous?

0] Chlorine (i)  Flourine
(ili))  Bromine (iv)  lodine
Alkenes are represented by the general formula

(') CnH2n+2 (”) CnH2n

@iii)  ChHano (iv)  CyHz+1OH
The gap between two neurons is called

() dendrite (i)  synapse
(iii)  axon (iv)  impulse

In Rhizopus, tubular thread like structures bearing sporangia at their
tips are called

() filaments (i) hyphae

(iti)  rhizoids (iv)  roots

NB-T/SC/1

Time : 3 hours
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(g9) The centre of the reflecting surface of a spherical mirror is called its 1

0] focus (i)  curvature
(iti)  aperture (iv) pole

(h) A human eye can focus objects at different distances by adjusting the
focal length of the eye lens. This is due to 1
0] near sightedness (i)  far sightedness
(iii)  accomodation (iv)  persistance of vision

(i)  Which of the following is NOT a fossil fuel? 1
() Coal (i)  Petroleum
(ili) Biogas (ivy  Wood

() The flow of energy in a food chain is 1
0] unidirectional (i)  bidirectional
(iti)  multidirectional (iv)  both (i) and (ii)

Answer the following questions in one word or one sentence:

© o A~ W N

Define pH scale.
What are alloys? Give one example.
Write any two uses of ester.

Which receptor in animals is responsible for detecting taste?

=

Define 1 dioptre of power of a lens.

Answer the following questions in about 20-30 words:

7.

10.

11.

Mention two properties of carbon which lead to the large number of carbon

compounds. 2
Write one function each of xylem and phloem. 2
What are dominant and recessive traits? 2

A student has difficulty reading the board while sitting in the last row in a
classroom. What could be the defect the child is suffering from? How can it be
corrected? 1+1=2

Define electric potential difference. State its S.I unit. 1+1=2

Answer any 10 guestions from the following questions (12 to 26) in about 40-60
words:

12.

Balance the following chemical equations:

(I) FeSO, — Fe,0O3 + SO, + SOz

(II) Na,SO, + BaC|2 — BaSO, + NaCl

(III) MnO, + HCI — MnCl, + H,O + Cl, 3x1=3



13.

14.

15.

16.

17.

18.

19.
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Alternate question for the visually impaired students:
What are exothermic and endothermic reactions? Give one example each.
(1%2+1%5=3)

What are acid-base indicators? Give two examples each for synthetic and
olfactory indicators. 1+2=3

(i) What is the chemical name of baking soda?
(if) Write the chemical equation for its preparation.

(i) Write one use of baking soda. 3x1=3
. Write three differences between soaps and detergents. 3x1=3
. What is a homologous serieso?rWrite two characteristics of homologous series.
(1+2=3)
How does the human body respond when adrenaline is secreted into the blood?
3
Explain sex determination in human beings. 3

. A concave lens has a focal length of 15 cm. At what distance should the object

be placed from the lens, so that it forms an image at 10 cm from the lens? Also
find the magnification produced by the lens.
Or 3

. An object 5 cm in length is held 25 cm away from a converging lens of focal

length 10cm. Find the position, size and nature of the image formed.

Alternate question for the visually impaired students:
State the laws of refraction of light. (1%2+1%=3)

Write any three uses of concave mirrors. 3

20. a. Several electric bulbs designed to be used on a 220V electric supply line are

21.

22.

rated 10W. How many bulbs can be connected in parallel with each other
across the two wires of 220V line if the maximum allowable current is 5A?
Or 3

. How many 176Q resistors (in parallel) are required to carry SA on a 220V line?

Alternate question for the visually impaired students:

(i) Why are alloys commonly used in electrical heating devices?

(if) Why is the series arrangement not used for domestic circuits? (1%2+1%:=3)
Explain on what factors does the resistance of a conductor depend?  3x1=3

What is a magnetic field? Write two properties of a magnetic field. 1+2=3
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24,

25.

26.
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Mention any three qualities of a good source of energy. 3x1=3
Write any three advantages of using biogas as fuel. 3x1=3
List any three roles of decomposers in an ecosystem. 3x1=3

What is a food chain? Why are food chains limited to only three or four steps?
Give one example of a food chain. 1+1+1=3

Answer any 5 guestions from the following questions (27 to 35) in about 70-100
words:

217.

28.

29.

30.

31. a.

Differentiate giving five points between metals and non-metals on the basis of
their chemical properties. 5

What are ionic compounds? Explain any four properties of ionic compounds.
1+4=5

Explain the process of blood circulation in the human heart with a labelled
diagram. 3+2=5

Alternate question for the visually impaired students:

(i) Define excretion.

(if) Name the components of the excretory system in human beings.

(iii) Name the nitrogenous waste present in the urine of human beings.

(iv) What is the basic filtration unit in the kidneys? (1+2+1+1=5)

Explain the process of digestion, absorption and assimilation of the human
alimentary canal with a labelled diagram. 3+2=5

Alternate question for the visually impaired students:

Describe double circulation of blood in human beings. Why is it necessary?
(4+1=5)

Explain any two methods of asexual reproduction with diagrams.

Or 3+2=5
Explain the process of germination of pollen on stigma with a labelled diagram.

Alternate question for the visually impaired students:
Mention any two sexually transmitted diseases. Write three preventive
measures for sexually transmitted diseases. (2+3=5)
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Explain the functioning of the human eye with a labelled diagram. 3+2=5

Or

b. What is dispersion of light? Explain the dispersion of light by a glass prism

33.

34. a.

35.

with a diagram. (1+2+2=5)

Alternate question for the visually impaired students:

() What is presbyopia?

(i) What is the cause of presbyopia?

(iii) What kind of lens will be required to see clearly the nearby as well as
distant objects? Give reasons. (1+1+3=5)

Explain the following phenomena:
(i) Twinkling of stars
(i) Blue colour of clear sky. 2Y5+2Y5=5

Explain the underlying principle and working of an electric generator with a
labelled diagram.

Or 3+2=5
State the factors on which magnetic field produced by a current carrying
solenoid depend. With the help of a diagram, show field lines of the magnetic
field through and around a current carrying solenoid.

Alternate question for the visually impaired students:

() What is electromagnetic induction?

(i) State Fleming’s Right Hand Rule.

(iii) Write two points of difference between Alternating current (AC) and
Direct current (DC). (1+2+2=5)

What is ozone? How is ozone formed in the upper atmosphere? Give two

reasons why the damage of ozone layer is a cause of concern for all.
1+2+2=5

*hhkkrhkikhkkhkkhkkhkhkkhkkkkkhkkhkkkikkkkik
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General Instructions :
i) Approximately 15 minutes is allotted to read the question paper and revise the
answers.
i) The question paper consists of 24 main questions.
iii) Internal choice has been provided in some questions.
iv) Marks allocated to every question are indicated against it.
N.B: Check that all pages of the question paper is complete as indicated on the top left side.

SECTION - A (Kesi Mhaphr)
1. Thedzeu phrdlie di ketsokeshii hako kelashulie: 10x1=10

U kri u pfutsanuokoe kekhruohi nyl phi di keze mia puo ki chiwawa di
Ihou kevor dze si. Puo ki chiiketuou puo thuo pedziperie kinyieko pfhi kengu phre
pie bawaya. Kinyie kese se ba morokesuoko liro: co, phitou, kithe, terhu, Kirie,
zoga, soza la mela, ciena, kero, keprii hakemhieko. Kinyie hako pete teiso teiki
biewaya. Kekreilamonyii teirtikhrie vorketa sie nu bie liro puokhu puo clitayakezha
la. Kinyie kebie thekhri liro Ziephie, Ride, Doshii mu Kezei hako donu biewa bei
morosuoya. Ki niepuu kinyieko biepie zhita liro puo siezedzirie, puo siezanuomia
mu puo Khriethokhriechiimiakoe siko pete pie vor puo tsishlya. Sisie zoga du
peso piezhi di khuduli puo khriethomia, puo siezanuomiako tsu pfii vorshilya. Sula
Ki niepuu rei kectikekrie kese pevi se ba di sunhie gapie he hieya. Kinyieko pthi
kengu phrelieta liro kiu chiiketuo la teisozha chieshi di sinhie themiako vor kiu chii
mhai pie niepuu tstiwaya.

U tsiepfumia ki petekhre rei ki boulha se chuya. Suko liro kinutshe bou,
miphu bou mu kiluo bou. Kinutshe bou keclithoya mu miphu bou zhaya,
kekreilamonyl miphu bou nu thezh, tieligali, mekhou tehieko mu teikhrie baya.
Kiluo bou nu liro ciekhe, telha, thevo, mithu hakemhieko pete baya.

Ki niepuu krapie kezhtu medzi di zoga vakect chilya. Siko huomia ki liro
flmie, huomia ki liro fubou, huo liro fige mu huo liro flphrie idi chiya. Kiu chi
tseikelie sie kitho he hietuo. Thevo cha di kithomuo chii pevi seya. Kitho he hanu
zha puo kithomia muo krei mu zha kenie kithomia muo krei iya. Hakemhie di
thiedzl u Tenyimia ki chilya mu huoniehuo khruohi di mia puo bu rei kemezhie
lotsowa mo mu kemenga di lhou vor mo.

(@)  Thedze nu cayieu pfhushdlie.

(b)  Kichiketuo-u kinyie kimhiectko pfhi phre pie bawaya ga?
(c)  Kedipuo la kinyieko teiso teiu nu biewa morosuoya ga?

(d)  Thekhri kiko nu kinyieko biewaya ga?

(e)  Suomia tsu kinyieko pie vor ki niepuu tslishilya ga?
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U] Kedikechiukipuo gapie he hieya ga?
(9 U tsiepfumia ki bou Iha kimhiecu kro puo chilya ga?
(h)  Kedipuo la u tsiepfumia miphou bou zhaya ga?
Q) Ki niepuu krapie kezhliu medzi di zoga vakecu ki kimhiect kro puo chiiya
ga?
) Kimhie di kitho he hieya ga?

SECTION - B (Thedze Kezo)
2. Hanie puo (1) kedapie dieca krie puo nunu krie di hiepengou (100 — 150) mese nu
thushdalie.
a. Ura Secondary School, Kewhira leshikiu nu Tenyidie kepetha lietho ba puo methuo
ba. Hau pemvu di kethezhokeci dzeyieleshii puo thupie leshiiki chathau tsiishi di
puo bu lietho hau pie n tstishinu chashulie. 6

Moro

b. Noe n leshiki sou chii di u die chii kehie morokesuo pederiichii puo nu vo kehou. No
pederlchii nu kevo dze riikhruo mhathu puo thushdilie.

3. Hanie puo (1) kedapie dieca hiepengou (50) mese nunu thushdlie.
a. Aneiu mu Aneinuo nie-e kemesa kiya chutuo Uzhie. Phreikie leshi puo thupie

kezashlie.
Moro 4
b. Kephrinuomia yopuo puotei medzilieyakemo la kepethau unie kertichiikec riichudie
thushdalie.
SECTION - C (Diezho mu Thuyie)
4. Die puotou-u kedapie thushdalie: 5x1=5
(@)  Thenu hapfi zivi se. Diecha hau nu Dietso-u kiu ga?
Q) Thenu (i) se
(iii)  hapfi (iv)  zivi
(b)  Supuo a ki vor ?
(i) tele (i)  shi
(i)  me (iv)  diemu
(c)  Morokesuo puo nu chilkewa dze pesikeshii tse
(i) wa (i) ta
(iii)  wate (iv)  wata

(d)  Dieca kiu Dietho kepe mo ga?
(i) ba (i)  tha
(i) vo (ivy ro
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11.
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(e)  Thechi puo thashiiyakezha tise
() tsa @iy wvd
(iii)  mia (iv) ra
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Dieca ‘we’ hau se puoca kenyi diecha mu diemei dieca puo chishlie.

Zatsekhu %2 hau dieca nu kimhie di thuya ga?

Dieca puokru tou-u pie rhiephi (-) kesedo thashdilie.
chid rid mo.

Diesou hako puoca thush di se diecha chishilie.
a. Mestimede
b. Peziepeme
c. Lhacilhale

Diekhu mu dierozu kekrii kebako thu kemezhtshlie.

a. Geizo ko nu die kezievi kekra ngulieya.
b. We u dia rhu moro suo.
c. Ania telha cie kevithou pelhouya.

Hako thuyie chtipie Tenyidie nu khashlie.
a. How beautiful this city is!
b. Can I help you?
c. Health is wealth.
d. I can run faster than him.
e. Kohima is the capital of Nagaland.
SECTION - D (Diemvi)
Diecako donu puotou-u kedapie thushalie:

(a) Krase kirapuo tsu di jlta ga?

1+1=2

1

1

-

-

5x1=5

5x1=5

Q) Japfiro (i)  Kedieutsukerd
(iii)  Chathetsatie (iv)  Senyiemia kitsatie
(b)  Kedikechuki puo Kezise penuolie ga?
Q) Tsiacie ki (i)  Thekeliede zhi
(iii)  Khoutho ki (iv)  Tshi thekelie zhii
(c)  Martin Luther King puo kelhouzha cie kitsuo ki Nobel Prize ngulie ga?
Q) Mepfi (i)  Mepfiepengou
(i) Ser (iv)  Serepengou

(d)  Nie pie penuo teiziepfl tuoi “Nie pie’ puoca liro
Q) Nie nuo (i) Nie krd

(iii)  Nie kethau (iv) U nuo phichatho-u
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(e) “Chumetsie” puoca kedipuo ga?

Q) Thehethehie (i) Sha, zha chd, leishii
(iii)  Terhd (iv)  Hako puorei mo
Ketsokect hako donu sorou kedapie dieca 20 — 25 mese nunu kelashdlie : 6x2=12

12.  Enoli Idei vor Krase ngu di kedipuo pu ga?

13.  Kedipuo la terhiimia Vihienuo ngushi ro michie di tataya mu kengu zorei ngu
preiya Usi ga?

14.  Mialmia bagei puo ta terhi riyachi nu kevor-u supuo ga? Puo kedipuo la vor ga?

15.  Kezise puo nuonuo mia kitsuo nyi ga? Supuo Mezeirli khou doupie chii ga?

16.  Kedipuo la kekramiapfii puoe dziezhu shiipie Martin Luther King vii ga? Hateiki
puo kelhouzha teicie kitsuota ga?

17.  “Nie Pie Penuo’ geizo nu thepfu-u kedipuo chii tuo di suomia bu puo geiwa ga?

18.  ‘Ketho mu Kevi’ geizo-u supuo zoshii ga? Ketho mu Kevi sii kedipuo ga?

Ketsokect hako donu kenie kedapie dieca 40 — 50 mese nunu kelashlie : 2x4=8

19.  Kedipuo la themiako Vihienuo ki kirapuo nhalie cietuo shi ketsoya Usi ga? Thepfula
st kedipuo ga?

20. “A nieko bu ngumviimia khriekecti a medo. Nko thie chii kethau puotou zo.
Ukepenuopfii bu japie nko tsushikelieu chiliecie.”
i. Diecha hau supuo se suomia ki pu ga? 2
ii. Puotei kimhiect puo nu puoe die hau pushii ga? 2

21.  Ritsolhout kedipuo mhie di puo nhicu teiki dze le puo nou mezhiekecl pu ga?
Ratsolhoull khriikelieu puo ze kirapuo vo ga? (2+2=4)

Ketsokecu hako dieca 60 — 90 mese nunu kelashulie:

22. a. Kimhie di Nizhe riina nu khriesako tsathou mevita ga? Tsathou gei kirapuo themia
chi tuo di ngulie ga? Tsathouyoe riina kitsuo die si ga? 2+2+1=5

Moro

b. Kirapuo nu Red Cross kehou kerietho-u kehou ga? Dunant-e kimhie di puo keleko
se mhachi sedevi ga? (1+4=5)

23.  “Akesuou sie vo thenupfi
Sou chulie mu liemou a se nu
Ketsu nhie we teinuo kesisie,
Mehi thesu loziko pfhe he”
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i. A kesuolpfiu kedipuo chilkelie sie liemou tuo Usi ga? 2
ii. Puo tsuketuo nhie puoteiu kimhie ba Usi ga? 2
iii. Puoe kedipuo si ga? 1

‘Nie Pie Penuo’ geizo nu thepfu-u pie kedipuo ze kemejiishi ga? Suomia bu puo
geiwa ga? Puo kimiapfii puo nou kesuopfi kedipuo pushi ga? 1+1+3=5
Moro

Niaki geizo-u nu Niaki kezie tse kimhie Gdi pu ga? Kedipuoe niaki kezie thepu se
baya ga? Supuoe ‘Niaki’ geizo-u zoshl ga? Ukezopfiie kedipuo mengu tdi pu ga?
(1+1+1+2=5)

*hkhkhkhkkkikikhkkkikkhihkihkihikiikiiixkh
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SHILEM - A (Rajem Latang)
1. Tekiboklen agija alibaji junga ziingang aser tastingdangbatemji langziiang:

Kim ka tslingda nung tsiingkiim mongpu balala akaba ajanga meimchir
nem tajangzik agutsir. Tslingkim mongpu shia pei pei tsiingsang mopung apir
mapa balala inyaker. Alima tesesm aika nung meimchir meliteter mesdira talitsi
jenjang talira asak, aser tesem kar mi agi arunger ama atsiikba agi melitettsiisa
aktimer. Tali atstikba agi takiim aika wangseter. Ano karbo kanga temokong agi
meliteter aser tastia asr.

Kim ka tstingda nung mongpu pezu lir, ita teranaji mongpu shia ita
asemsem lir. Item mongpu peziji metsi mapang, mei mapang, mangkonang
aser tsungkum lir. Metsti mapang March ita nungi May ita tashi lir. Iba mapang
nung tsuinisempongtsu tapu balala proker mesiira aremer. Iba mongpu ya ajaki
jangraba mongpu ka lir. Kechiaser iba mapang nung tzinglu marur saka
mopung tanep aoner; ozl sangnu balalai tsingkiim mongpu osang bena ken
atener; stingo lanu adokba mapang; stingbenlipen tapu balala punga naro sanem
agi meta ajak stinga menemer.

Metsii mapang suir killen mei mapang arur. Ibai June ita nungi August
tashi lir. Iba mongpu nung arem ajak melem melema tamak akiimer. Tzlnglu
sashia arur koba ajanga arem stingo aser tstinisempongtsu ajak yiraa indaktsur.
Alima takong aliba ajak shiaarudakja ali temo renlokdaktstr. Alu aser atsti nung
aonsotsu aika tejang tajung tanga achir. Iba mongpu nung mopung talem aoner
aser anli sashia apur. Saka tzlinglu peria aruba ajanga niburtem mekangshii alu
mapa inyakteter.

Mei mapang suir kiilen Mangkonang mongpu arur. Ibai September nungi
November tashi alir. Aluyimertem kiim piyong inyakba nungi tajangzlik anguba
mapang. Aluyimertem alu rua tsik benteta yur ayonga aliba mapang, maparen
ajak temer asepana inyakba mapang iba mongpu ya lir. Tetsir tanurtem
slingben tziita sta astikwa atema renemshir aser teburtem aayangtsuyangi
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bendangleni aoba mapang. Akhi mapang iba dang mangkonang ta aja.
Mongkonang ajaba tetzu teburtem arishii oa mongko bener arua yimrong nung
mangkonangtenba agi Mangkonang ta aja.

Mangkonang stilenbo joko tstingkiim mongpu arur. Ibai December ita
nungi February ita tashi lir. Iba mapang nung tziinglu marur ibayongji alima
takong alir aser arem yatalen lemla lemla senzir. Iba mongpu nung siingkim
tongni bendena kisujensii mapa inyaker. Anogo tatsii stiaka mopung temokong
aser tslingsang tajung asiinung mapa aika inyakteter aser anibelem kangabo
memeteter.

Tastingdangba:
@) Kim ka tsuingda nung mongpu kwi lir? 1
(b) Metsli mapang nung asenoki kechi inyaker? 1
(©) Siingo lanuji koba mongpu nung adoker? 1
(d) Metsli mapang siir koba tstingkiim mongpu arur? 1
(e) Koba mongpu nung tziinglu sashia arur? 1
Q) ‘Mangkonang’ tetezii kechi? 1
(9) December nungi February ita tashi koba mongpu alir? 1
(h) Kechiba tslingkiim nung mapa aika inyakteter? 1
0] Itemi tetezl agujang: 1+1=2
(1)  Asepana (i) Yimrong
SHILEM - B (Olem)
2. Aguja aliba onlk aser arrla amshia ojang 100 — 150 shi nung shiti
ka zlluang:
a. Niburtem ajaki tesangwa (electricity) kiimdanga aser apayua amshitsi
ningdak aser akok tashi tesangwa amshitsii asoshi metetdakja ‘The
Morung Express’ osang kaket yim o zllur dangi shiti ka ztluang. 6
Mesura
b. Aguja aliba oniik amshia osang agutsu zulu (report writing) ka ziluang:

Ner school-i ayongzikba ‘Tetsi oshi anogo’ koda amung,iba indang na
Tongti tezilur ka ama ner kaket riju otsii kaket nung adoktsu asoshi zilu
ka zlluang.

3. Aguja aliba onlk aser arrla amshia ana rongnung ka ojang 50 shi nung
zuluang:

a.

Na kenten telok ka nung dena lira ser ner teloki kenten sentong ka
ayongzuka lir. Anungji iba sentong nung adentsi asoshi niburtem dangi
tejaokba (invitation) ka ztluang.

Mesura 4
Aguja aliba oniik amshia sensaksem ka ztluang:
Na Merenba/Merenla. Ner tesayur nena tstingda mapang shitak amshiba
aser mamshiba indang nung ajemdaker sensaksem (dialogue) ka ziiluang.
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SHILEM - C (Orrlem)

Aguja alibatem nungi shitak telangztiba agtjang: 5x1=5
(@  Mungra ya lama ka niingja aser lama ka yayim nung aor.
0] otisem (i)  pukhimna
(ili))  meyongja (iv) ot
(b)  Laru memelenshi nendong agi tongnir menden agia tongnirji nendong
kiimer meyipa jembiba oyim dang?
0] Rarem leplashi (i)  Ramok leplashi
(iti)  Jilok tongta (iv)  Muken tongta
(c)  Tongnir ka aser salur ka dang aliba oren dang kechi ajar?
(i)  Atentep oren (i) Ayimlok oren
(i)  Kezioren (iv)  Jinutep oren
(d)  Mapang telemsa kwi lir?
0] Ka (i)  Ana
(iii)  Asem (iv)  Pezi
(e)  Tongniri shiba mesiira koba dak inyaker iba dang ta ajar.
(i)  salur (i)  tongnir
(iti)  oren (iv)  nendong
Tongnir, Salur, Nendong lemdanga ziiluang: 2x1=2
(@  Onoki kaket ka pa nem agutsu.
(b)  Tiabai per ka angu.
TimsU aser Rapasi oyim teratet ztiluang: 1+1=2
Mapang teratet shiang aser oren kaka sayuang. 1+1=2
Itemi jilok tongta leni meyipang : 2x1=2
(@  Onok aolen tesem indang Manenbai astingdang.
(b)  Teti ajemalua alitsu indang tetsii jala ajungshi.
Ramok mesura rarem leplashi nung meyipang: 2x1=2
(@)  Limabai arem nung pongzl ka angu.
(b)  Ayongnungango jenti Senabai apu.
Ao oshi agi meyipang: 5x1=5

(a) Never try to overtake from the left side.
(b) How beautiful this flower is!
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(c) What topic has been given to the main speaker?

(d) Obey your parents.
(e) Wisdom is better than strength.

SHILEM - D (Otsl aser Sangro)

11.  Aguja aliba nungi shitak telangziiba shimteta langziiang: 5x1=5
@ nung kiimshi Tzlpu merukteta ayur.
() Metsiremi aser Luchii (i)  Tslklai aser Metsuremi

(iti)  Metstremi aser Rongchii ~ (iv)  Rongchii aser Luroi

(b) Osettsiiset masuibaren sobalibaji koba?

() Kiojen (i)  Yokyasonu
(iii)  Yartslingsang (iv)  Sungkong
(c) Kechi nung Tamburtem meraketa adenshir yim antiker?
0] Kima (i)  Yimdong
(ili)  Mepu semtu (iv) Arju
(d) “Bar dir’ tetezli kechi?
(i)  Tetsitenu (i)  Tebu tenu
(iii)  Tetsi tedi (iv) Tebu tedi
(e) Odang kepji parnok.
0] Nok (i) Noklangnok
(i)  Jong (iv)  Jongkok
Item tastingdangbatem ojang 20 - 25 tashi nung langztiang: 6x2=12

12. Anembongji kechi dang ajar?
13. a. Alu tetezi kechi dang ajar?
Mesura
b. Kechiba Mokokchung yimti ya Ongkoroksong ta ajar?
14. Awashi metetba tebu kati awashi kechisa inyaktsila?
15. “Jungliyimti ki soyim’ sangro nung shirnok kong koma lungjema aliba indang
ashir?
16. Kechiba slingjang tapu ajak waziika ayutstla?
17. “Ni meteta lir’ sangro nung Rongsen tulutibaji kechi?

Item tastingdangbatem ojang 40 — 50 tashi nung langztiang: 2x4=8
18. Kima yimdong sadema ayuba tajangziik kechisa?
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19.a ‘Anikilen tasiingtet ashiapong aser anempong akaba kin’

I. Ibai koba sangro nungi aser shibai zilu? 2
ii. Aori anikilenji koma aslingteta ayu rasaa ztiluang? 2
Mesura
b. Adianu o adianu tstiingda nung komala awashi maparen inyaktstila?
Item tastingdangbatem ojang 60 — 90 tashi nung langziiang: 3x5=15

20.a. Arem lushi waziika yutettsu atema yimden teinyaktsi kar shiang.
Mesura
b. Aenlen jajar nisung asen limai arudang parnok koma anepalur yoktsii niingdak?

21. “Ibaji ni aroka bilemdang
Takim den medemdanga bilemdang’.
) Koba sangro nungi agitet? (¢D)
i) Shibai mejem? Q)
iii)  Kechi indang bilemdangba aser medemdangba ashir rasaa shiang?  (3)

22.a) “Par tapet tenling nokinketer,
Par Jongki sarir nganginer,
Par noklangnok, mangkodangtsii nok
Odang kepji parnok jongkok
Oru tena shilanger.”

i) Iba sangro shibai mejem? (@D

i) Agija aliba tekong koba sangro nungi? (¢D)

iii)  Orentemji ratetjang? (3)
Mesura

b) “Ku tayang mulung stineptsi
Ao yim semer penzia
Etiben mongchen semyonga
Par ken ani tenmala™.

i) Kechi sangro nungi? (¢D)
i) Sangro zulur shiba? Q)
iii)  Ibatekong ya tatsi agi ratetjang 3)

*hrhkrhkrhkkhkhihkihkkhkkhkkhkhkhkhkkkhkkkkikik
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KOKUPPHA - A (Ghili Kiyye)

1. Yepua keu phiju no iniji akeqo khochile tstlo:

Akiqgi kiia Sumi kichimi khisa hipau kiigha cheni. Inakha ye Achumi
eno Ghonili ye Asulimi. Pama akibo shive no kinikull shi xii ache. Pama dolo anga
lakhi Visheli ache. Inakha ye aghutomi shi ache kehu ado ado kimtsii sasu aghulau
ache.

Ghulo lakhi Inakha no aghami sasii aghtilau cheke lono stikomi ilimi
Chevili no alulo huaghi keu ithuluno lisasu kuzlvi ghi ngo auveno ide wove. Athiu
ghi titoi shi awuve kelono aghamiqo ye pa gholo wutsiimove. Chevili no amu noqo
vilo Inakha no kishi acheni keno pive. Ghulo lakhi ye Chevili alulo puhuve no amu
pama no mige ighi keloye kucho Inakha no Chevili sasu alhealo ngo aghi. Pama no
hula hila khast luveno Inakha yiveni keu shive. Inakha ye pokulupu laghi kiihave
kehu, Ingu okujo ye kiu shi cheni kea? Ipi. Tileno kuputsa suwo Chevili luni keu
kukilaza shisuve no wove. Inakha no akilo ighi no Ghonili vilo “ni ye ikixu xalu ni
ye atsa pipimive no cheni’ ipi. Ghonili no ti vethaluve puzl ‘Inakha ghi Kipitimi no
pathe paye ta thono kiu pi ania’ ipi. Inakha no Ghonili vilo ‘ni ye Chevili okujo
akichiu ayitiu shin-go penishi ani’ ipi. Ikemu Ghonili no, ‘Inakha ghi akisa ngo
aklhaghi ye kishe pelu chemoe, tighengu no ino ipeve tsini’ ipive. Ghonili no akilo
asu azu kumtsu kutokughoi mlape ghive tsuno akilo akughupu nhemgha kimtsu
ikhithape azuhi kughupo lo stipe ghi khave. Inakha no Chevili lusisu ighi kelo
Ghonili no “anga kimiye keke ni ye kiumu lutsimoe, eno hino iki khacheni ke’ ipi no
azuhu kughupo ikhipe ahu ipeche kemu Inakha no lakha luve alasheu ghi Inakha no
lakha luve tighengu no Ghonili ye akisau no ipeve. (totimi ye akusau ipe chini che)

Ghonili ye akiniu Sumixi kilo wove. Ampe lakhi lo Inakha no ngo
Ghonili panongu alu kiighiingu ghi chiluno kiputsa kilelu che, ghulo lakhi Ghonili
no Inakha no ye kiu toi xu anilaye mige alhea lo alhe jukelo ye, alhe pumono huaghi.
Thoghiu ye Ghonili no ashi ana akivishi kuto no pe iku Inakha no Ihea lo ghive tsu.
Inakha no ti ithulu no Ghonili kiimla kena ipi ithive. Ghile loghi kiimtsa atsala lakhi
lono hulu. Inakha no ye athi ayephu 9 tchi ipi no, athi lumo kehu alulo kuhumi
kiimtst akughou no wokhave. Inakha no ghuthu lakhi pulu susti Ghonili no kilo ighi.
Thanau inaghe Inakha ye avehu anipino itheno ashou ipeveno munu akilo ighi,
Ghonili no ye tipau tsala lo alojisa akehu, Sumixi ye itheno alulo huve keghili shi no
amghalo iku migea. Inakha no munu ighi ke Ghonili no pa khuna kutotsi kelo
Inakha no ‘alomka nono kitila chu no itsi kitila shono ije 1o’ ipi ikemu Ghonili ye
lotstiloghui kemi kehu Sumixi no mige aghi nani ipi ithia kehu, ‘nono yathapumu
timi ghi yathapu nono mighipumu timi ghi mughdpu ani. Muzi aye pechuni thono,



-2- NB-T/S/1

tlighu aye akichhi pesholo’ ipive no ‘llomi Sumixi noye huvea ke’ ipi no aki ghive
tsii puzu alulo huve. Inakha no ‘ni ye kiu lono ilomi Ghonili pheve kepu shive kea?’
ipi kimsiia.

(@  Ghonili kimi atughiu je khuu kea? 1
(b)  Inakha ye kiu ghengu no Chevili luve kea? 1
(c)  Ghonili ye Inakha pama ixave kelo kiu pesti wuve kea? 1
(d)  Ghonili ye kiu shiye ashi ana ghope Inakha no Ihealo ghitsi kea? 1
(e)  “Niye atsa pipimive no cheni’ kiu tsa pipimive kea? 1
U] Ghonili ye kiu shiye akiisau no ipeve kea? 1
(g)  Ghonili no “akiisa ngo akiihaghi ye kishe pemlae’ ipi keu kiqi pitsiilo. 2
(h)  Mdizl aye asa pechulo tught aye akichhi pesholo’ ipi keu kiqi hepho tstlo. 1
() Kiu shiye Inakha no ye athokha shi xii acheuve kea? 1
KOKUPPHA - B (lqqgikulu)
Atsathi 100-150 dolono yelo:
a. Yekili lakhi *Stumi kiphi’ lau yeghi ishi dolo Stimi tsa iqi eno atsathi akithego
peitha akeu lo avehu izu momu kiibangu akeulo kiu no akiviu shilu nani keno
okiiktimsi kusaje shi Simi Literature Board go lau yelo. 6

Momu
b. Noye kiphimi shou sakipheu. Ishi dolo mheshomheghi tsala ikhilu keulo khakighi
kuptghu kiu toi shilu keno kiyephi lo stikeu shi yelo.

Atsathi 50 dolono lakhi likhi yelo:
a. Kukdisu yelo, Nono ayeghighau- lotstipu kukuxu lo attighiu shilu keu ghenguno
alokivi shi okiisami kusu keu yelo. Atsala, A-a eno ado kishekulu yesulo. 4
Momu
b. Akusami kini dolo akiphiki theve akeu dolo kiu shini keno kuputsa akeu yelo.

KOKUPPHA - C (Tsayeh)

Achipiu tsathi pe kimeve tsilo: 5x1=5
(@ Azapelimivilo kucheni.
0] amu (i) angu
(iii)  ani (iv) achi
(b) kaku lakhi pe ighilo.
0] wupu (i)  wupuzu
(ili))  wope @iv)  wupi
(c) Noye kiu Ihochu kea?
0] ishina (i)  isuna
(iii)  ishinna (iv) istnna
(d)  Awuno athi ani.
0] muno (i) chu

(iii)  mighi (iv) tsa
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(e) Alotoye stikelo toluva.

0] ghukuju (i)  thekuju

(iii)  pekuju (iv)  shikuju
Tsashi pe aje lo stivelo:
(@ Kila 1
(b)  Tsltsusu 1
Suchou tsathi pe pidelau sive lo.
(@ Kipela 1
(b)  Lukimkha 1
Akiye ghola shikithe ve tsulo:
(@  Ampiu alhou no thowkha kiimtsi shou ampiu. 1
(b)  Noye kuhukupu lono ighi ani ohakusa. 1
Atsa tuna hipago pe atsajo mlalo:
(@  Akuhu-akuwo 1
(b)  Akithe- akile 1
Sutsakutho hipago akiqi pitsilo :
(@  Khecheli kupo 1
(b)  Aneno sho 1
Sutsah lo pekili stive lo. 5x1=5

(a) A man cannot serve two masters.
(b) Where is the Barber’s shop?

(c) Baichung plays football very well.
(d) Alas! We are defeated.

(e) I love to travel.

KOKUPPHA- D (Kichitssathoh eno Apuh Assii Leshe)

Achipiu tsathi pe kimeve tsulo: 5x1=5
(@  Alhou no Ihokiisu Ihoxu dolo akumghau.
(i amishi (i)  timi
(i) awo (iv) atsu
(b)  Aghau hipau pesu ipi cheni.
0] Thochipa (i)  Thochiu
(ili) ~ Tusholi (iv)  Chishilimi
(c)  Timi huye pa thikuzuu sasu aluche kughungu ache.
(i)  Angushuu (i) Shixilho
(iii)  Lhoxu (iv)  Tlaghami
(d Axeuno no le ini ani.
() noye (i)  Niye

(i)  paye (iv)  ningu ye
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(e) kuxo shi ishi xo puwo cheni lai.
0] Axathi (i)  Axamunu
(ili)  Aboxi (iv)  Hengu
Atsathi 20 — 25 dolono khochilelo: 6x2=12

12.  William Carey no kutsu keu akhoto kiu kea?
13.  Timi ye Kkiu kiu ilhove cheni pi ithi ani kea?
14.  Sumi khuayelo kiu ghuloki lono ahepuu kusawo kughulhu cheni kea?
15.  “Nono isasu kusho nishi aye lashola lo kulhobo kita lo wo ikhe aghilo.” Atsajo hipau
ye khuno khiu vilo pi ani kea?
16.  Leshe hipau akigi pitsulo
O ishe anga ozano kupunulo.
Ipolono pukiyeni aye aghi chighi.
17. a. “Kighili kuami hu ni xeu
Shimulla kiipt shenila.”. Kiu ghenguno kipd shenila ipi ani kea?
Momu
b. Ino putho zuhu gholumo ikujo vehu kishito, lau no tcheju puwu aye inhezu igighi
anishi saye. Akiqi pitsulo.

Atsathi 40-50 dolono khochilelo: 4x2=8
18.  a. Ame ye kishi kugha cheni kea? Hipaqo akiqgi ye lo. Ahepuu, anistiu eno
Akhaukipeu.
Momu

b. Thochipa ye kishino ajoji ghawu mih ithulu kea?

19. Atsala no anheu no atsutsu ilokighi
Tiye aghuthemi no akutsu pe,
Ilokighi ngushi aghini mulai!
Atsajo hiye kiu leshe lo ani kea?
Leshe akiqi pitsulo.

Atsathi 60 - 90 dolono khochilelo :
20. a. William Carey ye kughono India lo ighi eno paye Kishino India lo ighilu keno
kishekulu apasushi yelo. 5
Momu
b. John Simon Commissioner ye kugho no Kohima lo ighi kea? Paye kiu ghenguno ighi
eno Nagami dolo. Khuu no kiu kishi pa khochile kea?

21.a *“‘Anachumi ishi kumomi huno
Chehu ashe lono laju puha cheye
O ki tchelo kithila ju ga ye,
Timi ye ni lojimi pavinie pi kumsuye.”
I. Leshe hipau lo khuno akipiu kea?
ii. Khuu no ashe lo khu ju puha kea?
iii. Oki tcholo kithila ju gaye pi akeu ye kiu pi ani kea?
iv. Khuno lojimi pavini pi kumsu kea?
Momu
b. Yevihe no xeu aghili thwokha, agilo

RN R
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kughujupu kishimi hu, Itsa igha susi

aghe ghili shi. Ozano piye piizu ato

inawoye, No kimsu ana.

I. Yevihe no xeu ye khu-u kea.

ii. Agilo kughujupu eno itsa igha aghe ghili shi hiye kiu pi ani kea?
iii. Aza ye khu-u kea?

iv. Hiye kiu leshe lo ani kea?

““O itsu no hakiye ino kihi ato ino kihi ato ino
Kugho lono ashi thami no ilo pa thalu
Lhoaye hakiye wo wonizu ye wo

Pazano kupujuno alaju puha ala

Oishe itsuli wokulho no amukulo ani

Itsu sailewo ghilo, sailewo

Nighasa lo ghulo lakhi kivehu juana.”

Leshe hipau kigi pitsulo

*hrhkrhkrhkikhkhihkihkhhkkkkhhkihkikhkikk
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General Instructions :

i)
i)

Approximately 15 minutes is allotted to read the question paper and revise the answers.
The question paper consists of 22 main questions.

iii)  Internal choice has been provided in some questions.

iv)

Marks allocated to every question are indicated against it.

N.B: Check that all pages of the question paper is complete as indicated on the top left side.

1.

SECTION - A ( Ekhao)
Okdipoe erani elio shi khae zesi engao jiang janlana:

Nkolo oyan motsinga lo ntsinran elimoto thingche kyon nchyua vancho.
Tslingon motsinga lo ombo na lantsti sanphia yia vanathung olani mmyotsoe nchyua na
Olong tsuphov tvi shinga/eshiipa vancho ndokcho. Ntsinran jina ombo ndiingo sena owo,
eramo ni elhi shijo echen eviing na enno elhi saka ocho echi roa sana tokha etssatsso- moriv
ndang shona tssovkhato to ezocho.

Tole mmyotsoe jina shompo NKyingsao long roaka to ezole, kako eranpvii
ntsinran jina, ni zesi elim a lumbim joa yia je. Kyon ochina ha hetata teri kimi sangezipi
ekiim suphiv to jo elim zani sithaka. Nina heto sangmoka vana khatola kyon ochina ha ni
ncheka ka, tolia a na nilo longtstika lika, tsingon motsiinga lo jo oyim na ni chekao mekana
ni thingta eyio tvii stikhying lo mpi vanchokchiv ka nra lim theta elhi tssokhe to ezocho,
tole mmyotsoe jina tsiphoeyio, a tsiikona jo elhi tsipho tsiitsa, thanthiing myingthiing lia
tvl jo nonghothiing na a nnjiipon; a na enhunga tssoa evamo shi na lia a tssochyua; elani
toha ekiimo a ‘matha tso jijo a na ntio doa na hoji tssoi lim emia, emathata, jingra lia
noyinga evamvd ji a chokatsso to janlancho.

Janlan ji engasi, ntsinran jina nina ephyo ji elim elantheta, tolia nri-nrona
sangmoka evamo ji thingina jo sorikari elhi tssoi mekana thanpo elhilan mmhom twvii
rhiimae benta-zita, pvilyu-pvisha evamo ji mmhomo tssov la? Ndo to ezole, mmyotsoe
jina, tstphoeyio otsotsoka. Tolia, a na oyi motsiinga ni a enga hungala to phyoa Nino
ntsinran elani kako eranpvii benta ziita evan tsiphoe nchyua to a na ni chetheta. Tokha,
nina ni wopan jiang pono yuta shanlan motsiinga tia khi vanlanyilan mmhonka tsiukona
shiimhyacho lili han? To enga le, ntsinran jina oh! A elhilan mori ji ephan kiima, a na
wopan jiang ndingo khokthei senchiimtae motsti mono riita evam jijo a tsukona yuta nnli to
phyoa kholani yi sicho.

Engao shiang janlana:

(@)  Ntsinran jina kyon kvutvi ndokcho la?

(b)  Ntsinran jina mmyotsoe ji ntio yi ezocho la?

(c)  Nitsinran jina ocho zesi kviito nchiima limbim joa yicho la?

(d)  Mmyotsoe ji stikhying tstikona Ntsinran jina kvito phyoa ezocho la?

(e)  Ntio kvutvi ekiimo evamvui ji ombo emathatso to mmyotsoe jina phyocho la?
1

1
1
1
1
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0] Ntsinran jina mmyotsoe ji ntio kvitvi ekiimo evamo ji mmhomo tssov to

ezocho la? 1
(99 Mmyotsoe jijo ntio nnjipon cho la? 1
()  Ntsinran jina ntio kvito phyoa kholani yi sicho 1a? 1
Q) Motsu shi lona yitsiing esutao tvi yani erana: 1+1=2
Q) Rimphia (i) Eramoreni

SECTION - B (Eramo)
2. Okupi pi elio shiang onilo motsiinga ethiingi, yitsing 100 -150 harima na erana:

a. Ni no Myingthungo/ Myingthunglo, ni na vana eramo yantsuro (town) jilo kyon jiang na
onte Ki etssov tsutsailan olan olan hansi oyi olani vatao ji yakchia zotoro jiang
sanphisanri lo eziip ntoka evamo ji yansaron khi tangthechitokvi tsikona Nagaland Post
yithen kako jilo yithen etsstingchopwiii thiingi yiyenran/yiyenta erana.

Mekana 6

b. Nzyu 2022 jilo ni khaphen yanphen ki jilo na pungnoe tsiingon (Teacher’s Day) jilo
lankon eramo jia khitacho. Osi hoji kvito khitacho sana nte khaphen ki yithen kako
(School Magazine) ji lo theta yirta (report) erana.

3. Okupi pi elio shiang onilo motsiinga ethiingi, yitsiing 50 hartima na erana :
a. Ni na kha evamo khaphen ki ji oki ethan tssoi, hoji nthocheta evamo ji tsikona nte
pvuopo jiang lhinsting jilo oro ethev tsiikona etsa kako erana.
Mekana 4
b. Ekhiranta:
Ni tona ni shom ji to nini yutalo joren taro (Class Ten) nkyakcho silo Science khata
evamo ji mmhon osi nmhon tsiikona ekhiranta oyi elonta erana.

SECTION - C (Yinsanlan)
4. Janlan pi elio jiang lona elamo ji erana : 5x1=5

(@ Nonkdmrhium (Lirirhiim) shi yuta ji jo:
() Emhu to chesu yuta ji tssoala (i)  Chopik to nriyuta ji tssoala
(iii)  Nringtsi to chopuk yuta ji tssoala (iv)  Eden to jikanika yuta ji tssoala

(b) Njyu jo ete pungnoe ji jo kvilo sana yia vancho. Shilo yuta tepfuyi/tongphiyio i ji jo.

Q) Kvilo (i) Njyu
(i) VYia (iv)  Vancho
(c) Nzansi kako shi nkgho pungnoe ji hantoka. Shilo mhachungyi elamo ji khi sekata.
Q) Thingi (i)  Lona
(iii)  Tsukona (iv) Lo

(d) Ni shom ji ha ete ndiingo rocho. Shilo shenti lhitssoyi ji jo.
Q) Ndingo (i) Ni
(ili) Ete (iv) Rocho
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(e) Yitsiling “Zana’ shi yichak esitao yitsiing ji jo;

Q) Elonga (i) Mataroa
(iti)  Khosha (iv)  Hungria
5. Yiren pi elio shiang ntio eyieton sana etsyukae ejla.
a. Nzansi, kako limtheta kha. 1
b. Ana elhi tssocho salivo eli a kumthakvii 1

6. Yiren pi elio shiang etsyuchi pi elio jiang ephani na janlana.
a. A na kako erana vana. (Yiren shi simple past tense kumtoka) 1
b. Ombo na yentsa lo yia vanthakcho. (Present perfect continuous tense kumtoka) 1

7. Yiren shiang erhiyi kiimtoka. 2x1=2
a. Ombo na phyocho, “Khaphen shi lo na ekhav ji a nchoka.”
b. Pungnoe ji na ekhae jiang ezocho, “Lotha yi jo ocho na nte pungnoa la?”

8. Yitsling ‘yinga’ shi na yichak eni pia yiren nstingrua. 2x1=2

9. Yiren pi elio shiang yitsiinga tae na janlana 2x1=2
a. Otsoe tsiika tae evamo ji.
b. Ntia methak nli na tssiilka oyi nsamo ji.

10. Yiren shiang Lotha yi na Khophia. 5x1=5
a. The wind is blowing since morning
b. When did you complete the work?
c. Charity begins at home.
d. May God bless you good health!
e. This girl is very good in singing.

SECTION - D (Eranntolan)
11. Engao shiang akvilo elamo ji ethiingi janlana: 5x1=5
a. Onjeni motsu jilo mmhord ji na eklimrim rami hamo jiang yulo ntio ekimrim ji na
vingkhong tssoa hancho l1a?
Q) Siano (i) Nipong
(iti)  Sepvi (iv)  Shiali

b. Limhatsu ritsso oviingo ji jo nzyi kvita lona kwviita nandang tssotacho la?
Q) 1914 lona 1919 nandang tssotacho
(i) 1914 lona 1918 nandang tssotacho
(it)) 1914 lona 1917 nandang tssotacho
(iv) 1939 lona 1945 nandang tssotacho

c. ‘Pungnoeten’ jiang jo elhi etssoeten olan kvitato jilo thechicho la?
Q) Elhi etssoeten olan mezhiito
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(i) Elhi etssoeten olan ethiimoto jilo
(iti)  Elhi etssoeten olan oviingoto jilo
(iv)  Elhi etssoeten olan mongoto jilo

d. Chungiyi ‘Wokha yantsuro’ jilo eranpvio ji jo.

() K.R Murry (i) Y.Y. Kikon
(iii) Lilanthung Kinghen (iv) Orhyuo Tungoe
e. “Obenro” yitsiing shi yichak jo;
() Nzantsoro (i)  Ngaroro
(iif) Okharo (iv)  Nzantio
Okupoe engao shiang yitsing 20 — 25 hartima na janlana: 6x2=12

12. Mungtsilo opyavoang na kvitolyui onte oyilov Mungtsulo ji owo hungcho la?
13. “‘Nte na loroe ji soa a vantokvo, A na phechei nte piv khatolia.’

a. Yiren shi jo ocho na phyocho la?

b. Loroe ji jo ocho tssocho la?
14. Moji khortim ha jilo ntio ntio thei hansi Rhyuvenpheni woala?
15. Eranpviio ji na pofil zhkh jijo ntio esiicho to phyocho la?
16. Etsli jiang na Wokha meta jilo ntio ntio hiingi epitacho la?
17. a. Ntio tsiikona eboe ji na eling ji thungi ti nungra le to ezocho la?

Mekana
b. ‘Eng na shanro riathung khiimcho nlhio to ti tsso’ shi yichak eroroa erana.

Okupoe engao shiang yitsing 40 — 50 hartima na janlana: 2x4=8
18. a. Himchipili na kvitolyui yingkhi jilo rhowo vancho la?
Mekana

b. Elhi chiroi tssotao ji omaneli jiang erana.

19. ‘Nte mayangro obenro ashavo na,
Echdi tsi ntso hanila,
Echui soko nyu hanila,
Ochi yanben obenro sana tokha
Ashavo to joro soto yenjania’

a. Yiren shiang jo ocho na phyocho la? (1)

b. Ntio tstkona yiren shiang phyocho la? (1)

c. “‘Ashavo to joro soto yenjania’ shi eroroa erana. (2)
Okupoe engao shiang yitsing 60 — 90 hartima na janlana: 3x5=15

20. a. Rithak tokht chekav jiang erana.
Mekana
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b. Ranphan na Mmhord ji kvitolyui owo lungthacho la?

21. Chungiyi ‘Oshomo Merangcho’ yintssen ji erana.

22. a. “Ni lo mizhii wondang etho jlicho sakiima Ajiran ezhii lona zenkhae jiang na milon
etho, Tsslingyae Naga lisha phonglan jiang stingzhui khi, Ni mizhi etho na thera
kitsiicho to wondangtokala.” Shi khenzhii etsyukata eroroa.

Mekana

b. ‘Ete oren shilo jo, nti ntani na
Stmro ezhii ntav vena roe khi,
Echi lia echii kilasi ena yio
Supen rhonkacho to chiia tsayila,
Ntung kitsticho to chua tsayila,
Rhipen eki jacho to chia tsayila,
Ete oren shilo jo yantaro aziim kila.”

a.
b.

Nti ntani ji yichak jo ntio la? 1)
Ntio tsiikona eranpvio ji na stipen, Ntiing tona Rhiipen thera shiang ejyukata

phyocho la? (1)
Khenzhi shi jo ntio chungiyi lona khichecho la? 1)

. “Echu lia echi kilasi e na yio, stipen, rhonkacho ntiing kitsiicho tona Rhipen eki

jacho to chia tsayila.” Shi etsyukata eroroa erana. (2

F*hhkhkhkhkkhhkhkhkhkkhhkkhhkhkkihkkhihkihkihkhkhkhkiikhkik
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General Instructions:
1) Approximately 15 minutes is allotted to read the question paper and revise the answers.

ii)
iii)
iv)
N.B:
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The question paper consists of 16 questions. All questions are compulsory

Internal choice has been provided in some questions.

Marks allocated to every question are indicated against it.

Check to ensure that all pages of the question paper is complete as indicated on the top left side.

SECTION - A ( safsd aver )
frmafefaa e & aew O o aeet & S fafaa:

TSRl T T THAT FATF TSATAT BT | TBTS 1 AT 9T, d<) 3 fohare S=-
ST AETARTSAT 1 G T T T AT H T H a9 § AT | T SR T I Tl ol (4
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T, FALATE AL 6 AT T el §U AT BIT & | TG I T8 T ST {oh GaT T
foFaAT AT & | 9T ST o T SHHT TN 9T |
AT FATIRATATLETS ?

ST foFEhT I T ST AT I AT ?

ATH SATSHT AT @1 (oA BT el ATTAIS FLIATE ?
2013 ¥ SATFIRTS fema< 7 fohT oTss T ‘a9 T 912" =TT fRaT 2

T T TEATT el F A AT E 2

ST T TR A2
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Section - B (J@)
Tt uet & 39T 100-150 Tt # fofaw: - 6
AT forrTes ¥ U-%a & AT 1 FH1 ¢ fSTaer straes fommers it 230 |« ¥ 7 o=
YER FT AT TET ¢ ST 7 0% T8 ST I & | 36 ST ST AT HS g AT
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frefatea weat & S92 50 TSt & forfaw 4
AT TR 1 ST H FATT g AT AT ST A= ST BT TF (7707 97 ferfa:
EREI
. Torotet sTIqfet & | 81 % 10T WG AT AEH TS 1 31 & 78 T81 T ¢ | fersredt
=1 S TUET 0 (T A1 6 S §T Teh e ferfan |
Section - C ( ATHIOT)
frfafen fawent ® @ a8t S g fataw:

“qNET - TTex T i fT==E ¥ - 1
(i) FO0 + &7 (i) I+ I (iii) T + M (iv) FEUGT + T

‘T 9Tex 19 |1 THE & ? 1
(i) sty (i) @gsitte (iii) B (iv) e

‘T FgRr - Fasaswage 2 1
(i) STTETRTROT FTLF (i) STUTETT HTLH  (iii) T FEH  (iv) FXT HILH
‘AT, H HI O [T & 2 1
(i) EfgaeET (i) @l gaefET (i) AgHoEmEs gaeET (i) FE T@

“qf HEFTTRIEI S - PTTRAHE 2 1
(i) MAHT (i) A F (i) WA FT (iv) FE T

fr=afataa =t F -3 mmtga= 7= fofew: 1+1=2
(@) 9T (b)T®W

fr=tataa =t & faoie w forfa: 4X'1,=2
() TAT (b) ¥ (c) T= (d) 7F

fr=afatea =t & for sefa: 4x'1,=2
(a) ¥F%F (b) FaT (c) Yo (d) a9

Trfertaa gereadt #7 stof faeese amat & wa #iwe: 1+1=2
(a) gt ST (b) FHerT HITAT

q, EY, A & I TIRT ¥ Qrer 2= AR 1+1=2
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1.
(a)

(b)

(c)

(d)

(e)

12.
(a)
(b)
(c)
(d)
(e)
(f)
13.
(a)

(b)
14.
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frfafe amat w1 et & srgae st
(a) Who teaches you hindi ?

(b) She has a high fever

(c) He is too weak to walk

(d) 1'am pleased to meet you

(e) My ring is made of gold.

Section - D ( AT{ET )
frfafen fawent ® @ a8t S g fataw:
TSTERETY G S F 98 H A6 HA 9 T 2
(i) FEaEF (i) FHETT (i) FISC (iv) THATH
ST HEhfT FT S Fel & ?

(iy TAT (i) SHEAT (iii) AT (iv) WA

WTHUT I T TEeT HIhT fheehT o 2

(i) @ (i) fe=mert (i) w=e (iv) srfafy

TEA STt =T ST gl gafT a1 2

(iy Tfeme (i) @R (i) TmREE  (iv) TS

‘ST AT ITF 918 HAT F HA HTE ?
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T, T U g7 foanT fFhst g & 2

et 3 SAHT SIS | H& AR 1 G FAqqr e 2

HY H TEAAT A 3T S-St 1 568 TR AEE 7 Hf 7 g6 Far e 2
‘A AT TR FAT AT S foRT & =hfar =1 a7 ifaamar & 2
frfafas aw=it & S 40-50 W=t A fafaw:

Tt 3 o1t foraTe 3 AT S 3 o S ge & e Senfor 7 7
EREN

TISTTEE ST T STAT T 1 -1 & a1t A1 AT A 2
T AT | AUET 76t e, I8 e faer 7 foag fFar g 2
frtafe wenw 7 ggF @ o gt F S fataw
T AL @ F A - qraa
U 3T § gEd W AT E,
e fordt am & =8 ot ST € |
- @1 & g are o1 [l =
T 33 <@L AT - AT
ST ST & JE o Fe awe
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(1)  Approximately 15 minutes is allotted to read the question paper and
revise the answers.

(i) The question paper consists of 23 main questions.

(iti)  Internal choice has been provided in some questions.
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General instructions:
) Approximately 15 minutes is allotted to read the question paper and revise the
answers
i) The question paper consists of 21questions.
iii)  Internal choice has been provided in some questions.
iv)  Marks allocated to every question are indicated against it.
N.B: Check that all pages of the question paper are complete as indicated on the top left
side.
Unit - | (Reading)

1. Read the passage and answer the questions that follow:

Marie was born in 1867 in Warsaw, Poland, where her father was a
Professor of Physics. At an early age, she displayed a brilliant mind and a blithe
personality. Her great exuberance for learning prompted her to continue with her
studies after high school. She became disgruntled, however, whenever she learnt
that the university in Warsaw was closed to women. Determined to receive a higher
education, she defiantly left Poland and in 1892 entered the Sorbonne, a French
university, where she earned her master’s degree and doctorate in Physics.

Marie was fortunate to have studied at the Sorbonne with some of the
greatest scientists of her day, one of whom was Pierre Curie. Marie and Pierre were
married in 1895 and spent many productive years working together in the physics
laboratory. A short time after they discovered radium, Pierre was killed by a horse-
drawn wagon in 1906. Marie was stunned by this horrible misfortune and endured
heartbreaking anguish. Despondently she recalled their close relationship and the
joy that they had shared in scientific research. The fact that she had two young
daughters to raise by herself greatly increased her distress.

Curie’s feeling of desolation finally began to fade when she was asked to
succeed her husband as a physics professor at the Sorbonne. She was the first
woman to be given a professorship at the world-famous university. In 1911 she
received the Nobel Prize in chemistry for isolating radium. Although Marie Curie
eventually suffered a fatal illness from her long exposure to radium, she never
became disillusioned about her work. Regardless of the consequences, she had
dedicated herself to science and to revealing the mysteries of the physical world.
a. Why did Marie Curie not join the university at Warsaw?

b. What was Marie Curie’s contribution to science?
c. Where did Marie Curie do her master’s degree?
d. Why did Marie get sick?

e. What happened to Pierre Curie?

PP R
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2. Read the poem and answer the questions that follow:

The sun does arise,

And make happy the skies;

The merry bells ring

To welcome the spring;

The skylark and rush,

The birds of the bush.,

Sing louder around

To the bells’ cheerful sound;

While our sports shall be seen

On the Echoing Green.
Old John, with white hair,
Does laugh away care,
Sitting under the oak,
Among the old folk.
They laugh at our play,
And soon they all say,
‘Such, such were the joys-
When we all- girls and boys-
In our youth-time were seen
On the Echoing Green.’

Till the little ones, weary,

No more can be merry:

The sun does descend,

And our sports have an end:

Round the laps of their mothers

Many sisters and brothers,

Like birds in their nest,

Avre ready for rest;

And sports no more seen,

On the darkening Green.  (William Blake)

a. What makes the skies happy? 1
b. Name two birds mentioned in the poem. 1
c. Who sit and watch the children play? 1
Write true of false:

d. The children goes to the sisters’ laps when evening descends. 1
e. The old age is compared to morning and youth to evening. 1

UNIT- Il (Writing and Applied Grammar)
3. a. Write a story about a family that won a lottery of 20 lakhs. But they refused to
claim the prize. (Mention in your story about who bought the ticket, why they
refused to take the prize money, what will happen to the money, whether any
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disagreement took place among the family members, the decision the family
took in the end) 6
Or
b. Write an article in about 150-200 words for the school magazine on “Ban on
single use plastics.”

4. Write a dialogue in about 100-150 words between two friends about their plans for
the future after they clear the HSLC exams. 6

5. Rewrite the sentences as directed in the brackets: 2x1=2
a. John kept writing until he ran out of paper. (Underline the Clause)
b. No other fruit is as sour as a lemon. (Underline the degree of comparison of the
adjectives)

6. Fill in the blanks with the correct prepositions: 2x1=2
a. The teacher stood the students.
b. 1 will be back two hours.

7. Fillin the blanks with correct conjunctions: 2x1=2
a. Always look both ways you cross the road.
b. The robberslooted the traveller; they beat him.

8. Change the voice: 2x1=2
a. The workers have called off the strike.
b. Iread a poem.
Unit — 111 (Literature)
9. Choose the correct answer from the alternatives given: 10x1=10
I. What weighed down the “half pants” of Toshi and his friends as they run down the
short cut?

a. Fruits in their pockets

b. Creepers and vines

C. Slingshots of clay balls and other precious play possessions
d. Hands in their pockets

il. What was the ‘daring idea’ that Pasteur and Roux got?
a. To crush the shriveled medulla
b That rabies might not travel in the blood
c To inject the virus directly into the brain

d

To test on animals

iii. Where was Severn Suzuki born?
a. Brazil b. Somalia
c. Canada d. India
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iv. How many children took part in the race? (In Celebration of Being Alive)
a. One b. Two
c. Three d. None of the above

v. Where was the ambitious guest going to?

a. Burlington b. White Mountains
C. Maine d. Bartlett

vi. Where does the poet want God’s kingdom to be established?
a. Minds and souls b. Hearts and homes
C. Hearts and minds d. Homes and souls

vii. Which of the saying reflects the message of the poem *Closed Path’?

a. “When one door closes another opens.”
b. “Every cloud has a silver lining”
C. “God works in mysterious ways”
d. “Be content with what you have”

viii. What makes the old people want to forgive life?
a. Their bodies are weak
b. They are tired of laughing
C. They have forgotten about their past
d. The promise of painless death

ix. Who brought a new skirt each for Margot and Anne?
a. Kraler b. Miep
C. Vossen d. Elli

X. Whose idea was it to build a bookcase in front of the entrance to the Secret Annex?

a. Otto Frank b. Mr. vanDaan
C. Mr. Koophius d. Mr. Kraler
Answer the following questions in about 20-25 words: 3x2=6

10. Why did Pasteur test the blood of mad animals? (Man against Virus)
11. Why did Dr. Barnard find suffering of children particularly heart breaking? (In
Celebration of Being Alive)
12. a. What is the code mentioned in the poem “Prayer of the Meek”?
Or
b. Why are “fresh thoughts’ important to Wordsworth as a poet? (To Sleep)

Answer the questions in about 20-25 words: 2x2=4
13. Why was Anne’s father angry? (The Diary of a Young Girl)
14. What made Anne decide to be a writer? (The Diary of a Young Girl)
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Answer the following questions in about 40-45 words: 4x4=16
15. ‘Back then Mokokchung was very, very far away but now it is only 40 km or so away
from my village’ (The Fragrance of the Gods)
a. Why was Mokokchung farther from Toshi’s village during childhood than when he
became an adult? (2)
b. How did Toshi’s perspective change as an adult? (2
16. What reality does Severn Suzuki present about Canada and the northern countries?
17. *Soon the Small birds’ melodies must hear,
first uttered from my orchard tree.
And the first cuckoo’s melancholy cry’ (To Sleep)
I. Why does the poet utter the above words? (2
ii. How is the poet sure about the birds’ cries? (2
18. a. “When old words die out on the tongue,
New melodies break forth from the heart.” (Closed Path)

I. What does the poet mean by ‘old words’? Q)

ii. What inspired the poet with ‘new melodies’? 1)

iii.  What was the poet faced with before he found new inspiration? 2)
Or

b. What is the main idea portrayed in the poem ‘Old Folks Laugh’?

Answer the question in about 40-45 words: 1x4=4
19. What are the anti-Jewish laws imposed by the Germans? (The Diary of a Young Girl)

Read the lines and answer the questions that follow:
20. “If your grandparents don’t want you to, you shouldn’t go behind their backs.” (The

Diary of a Young Girl)

I. Who said this and to whom? 2
ii. Why did the speaker say this? 3
21. “‘But | cannot die till 1 have achieved my destiny. Then, let death come! | shall have
built my monument.” (The Ambitious Guest)
I. Who is the speaker? 1
ii. What “‘destiny’ was the speaker speaking about? 2
iii. Is the speaker’s wish fulfilled? Explain. 2

*hhkhkkhkkkhkhkhkhhkhkhkhkihkhikhkihkihikhiikiik
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General instructions:

i)  Approximately 15 minutes is allotted to read the question paper and revise the
answers.

i)  The question paper consists of 25 questions. All questions are compulsory.

iii) Internal choice has been provided in some questions.

iv) Marks allocated to every question are indicated against it.

v)  Alternate question for the visually impaired students are provided in question 23.
Only the visually impaired students have to attempt the alternate question.

N.B: Check that all pages of the question paper is complete as indicated on the top left side.
1. Choose the correct answer from the given alternatives :

(@ Who was the author of the book ‘The History of the Loss of Vietnam’? 1

0] Phan Boi Chau (i)  Ho Chi Minh
(iii)  Liang Qichao (iv)  Phan Chu Trinh
(b)  Multinational Corporations(MNC’s) are 1

0] Foreign companies that flourish in the developing countries

(i)  Large companies that operate in several countries at the same time

(ili)  Large companies that try to exploit small companies

(iv)  West European and Japanese companies which exploit the
developing countries

(c) On which of the following rivers is the Hirakud dam constructed? 1
0] Satluj (i)  Beas
(ili)  Mahanadi (iv)  Narmada

(d) Oil India Limited (OIL) belongs to which of the following types of
industries 1
0] Public sector (i)  Private sector
(iii)  Joint sector (iv)  Cooperative sector

(e) A map showing the distribution of industries is a 1
0] physical map (i)  political map

(iti)  thematic map (iv)  road map
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() Which of the following countries is not an example of ‘holding together’
federation?
0] Spain (i)  Belgium
(iii)  India (iv) USA

(@) Who chooses the candidates for contesting elections in India?
() Members and supporters of the party
(i)  Top party leaders
(ili)  The existing government
(iv)  The opposition

(h) Identify the correct meaning of average income or per capita income.
() Total income of the country divided by the average population
of the country.
(i)  Total income of the country divided by the total population
of the country.
(iii)  Average income of the country divided by the total population
of the country.
(iv)  Total income of the country divided by the total area of the country.

(i) The sector that converts raw materials into goods is the
0] primary sector (i)  secondary sector
(ili)  tertiary sector (iv)  organized sector

() Who was the first Speaker of Nagaland Legislative Assembly?
0] T. N. Angami (i) E.T.Ezung
(iif)  Thenucho (iv) K. Shikhu
Answer the questions in one word/one sentence of not more than 15 words:
2. Who was the founder of the Hoa Hao Movement?
3. Name the person who pioneered mass production of cars.
4.  What is a spillway or weir?
5. What are agro-based industries?
6. Define globe.

7. Mention one factor which influences the Indian politics.

8.  Name the apex court of India.
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Define infant mortality rate. 1
Give the full form of UNDP. 1
In which district of Nagaland is the Mt. Saramati located? 1

Answer the questions in about 20-30 words :

12.a.

13.a.

14 a.

15.

16.

17.

Give two reasons why the French considered it necessary to colonize
Indochina. 2

Or
When and where were the French defeated in Vietnam? (1+1=2)

Define globalization.
Or 2
List the chief features of the Bretton Woods system.

Mention any two measures for conservation of minerals.
Or 2
Why is land a very important resource?

Differentiate between conventional and non-conventional sources

of energy. 2
Mention the two main objectives of a federal government. 2
Briefly explain any one cash crop of Nagaland. 2

Answer the questions in about 50-70 words:

18.a.

b.

19.a.

20.a.

How did Greece become a nation state?
Or 4
Mention any four causes of the tribal movement in Andhra Pradesh.

Mention four reasons why road transport is more useful than rail
transport in India.

Or 4
What are the advantages of waterways as a means of transport?

Explain the political expression of Communalism.
Or 4
‘Democracy is the better form of government’. Give reasons in support
of the statement.
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21.a. State any two differences between informal and formal sources of credit.
Or 4
b. Mention the four main features of a commercial bank.

22.a. Explain any four rights of the consumers.
Or 4
b. Explain any four forms of consumer exploitation.

23.  On the given political map of India, four features A, B, C, D have been
indicated. Identify these features with the help of the information mentioned
below and write their correct names against the given letters. 4

Major wheat producing area

Area of red and yellow soil
Srinagar Software Technology Park
Digboi Oil field
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Note : The following questions are for visually impaired candidates only in lieu

24,

25.

of Q 23.
i)  What is soil erosion? (@D
i) What is natural gas? (@D
iii) What is the most important occupation of the people of India? (¢D)
iv)  When was the National Jute Policy introduced? (¢D)
Answer any three questions in about 80-100 words : 3x6=18
(@) Explain liberalism in political and economic fields prevailing in

Europe in the 19" century. (6)
(b) Describe the contribution of Subhash Chandra Bose in the freedom

struggle of India. (6)
(c) Mention any six institutional and technical reforms implemented

by the Indian Government in agriculture. (6)
(d) Explain any six factors that sustain democracy in India. (6)
(e) Explain how public sector contributes in the economic development

of a country. (6)
(f) How does the government protect the interests of the consumers? (6)
Answer any one question in about 80-100 words : 1x6=6
(@) Give an account on the terrace cultivation of Nagaland. (6)
(b) Give an account on the climate condition of Nagaland. (6)
(c) Explain any three cottage industries of Nagaland. (6)

*hkkkhkkkhkkhkkikhkhkhkhkkhkhkhkhkhkhkhhkhkikhkihrikkiikikx
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General Instructions:

1) Approximately 15 minutes is allotted to read the question paper and revise the answers.

i) The question paper consists of 19 questions.

iii) All questions are compulsory.

iv) Internal & general choice have been provided in some questions.

v) Marks allocated to every question are indicated against it.

N.B: Check to ensure that all pages of the question paper is complete as indicated on the top
left side.

Section - A
1.  Choose the correct answer from the given alternatives.
(@) Ifthe sum of squares of zeroes of the quadratic polynomial 3x? +5x +k

is _?2 then the value of k is 1
. 31 ... 25 ... 35 .27
i 2= i) == i) = iv) —
(i) 5 (i) - (i) 5 (iv) -
(b) The point of intersection of the linesy =3x andx =3y is 1
(i) (3,0) (ii) (0.3) (i) 3.3 (V) (0.0)
(c) Ifone root of quadratic equation 4x* —2x+ (1 —4)=0 be the reciprocal
of the other, then A isequal to 1
(i) 4 (ii) 8 (iii) -4 (iv) -8
(d) The sum of the first 20 odd natural number is 1
(i) 100 (i) 210 (iii) 400 (iv) 420
(e) The distance between the two points A (2, -3) and B (2, 2) is 1
(i) 2 units (i) 3 units (iti) 4 units (iv) 5 units
(H In AABC, right angled at B, AB =5 cm and sin C=%, the length of
AC will be: 1
()10 cm (i) 2.5 cm (iti) 7.5 cm (iv)6cm

() Froma point Q, the length of the tangent to a circle is 24 cm and the
distance of Q from the centre is 25 cm. The radius of the circle is 1
(1) 7cm (i) 12 cm (iii) 15 cm (iv) 24.5cm
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(h) The area of sector of central angle “x’ of a circle with radius “4r’ is 1
- Anxr . 27xr? o T2 27X
[ i i \Y)
(i) 360 (ii) TS (iii) 360 (iv) 360°

(i) A conical military tent having diameter of the base 24 m and slant height
of the tent is 13 m, then the curved surface area of the cone isfuse t=3.14] 1

(i) 409.28 m* (i) 489.8 m*  (iii) 415.28 m° (iv) 495.5 m’
(J) Iftwo coins are tossed simultaneously, the probability of getting at most
one tail is 1
L1 .1 .03 .
) = i = i) — iv) 1
(i) 2 (ii) 5 (iii) 2 (iv)
Section - B
Find the LCM and HCF of 12, 15 and 21 by the prime factorization method. 2

Find the roots of the quadratic equation V3x2 +8x+5/3=0 by factorization

method. 2
In the adjoining figure, if DE || BC, find AD. 2
A
1.8 cm
D E
7.2cm 5.4cm
B C

If (1, 2), (4,y), (x,6) and (3, 5) are the vertices of a parallelogram taken in order,

find x and y. 2

In a circle of radius 21 cm, an arc subtends an angle of 60° at the centre. Find the

length of the arc. 2
Section -C

Answer any three from the following questions (a) to (e). 3x3=9

(@) If2 and —3 are the zeroes of the quadratic polynomial x* +(a+1)x+b , then
find the value of a and b.

(b) Solve the following pair of linear equations by elimination method:
3x+4y =10 and 2x -2y =2.
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(c) Find the roots of the quadratic equation 2x°> —7x+3=0 by applying the
quadratic formula.

(d) Determine the AP whose third term is 16 and 7" term exceeds the 5™ term
by 12.

(e) Find the sum of first 51 terms of an AP whose second and third terms are
14 and 18 respectively.

Answer any two from the following questions (a) to (d). 2%x3=6

2
(&) If3cotA =4, then prove thatw = cos® A—sin® A with the help of a
1+tan® A

right triangle.

sin6—2sin’0

2c0s°0—cosf
c0s45°

sec30° +cosec30°

(b) Prove that: tano.

(c) Evaluate:

(d) The angles of elevation of the top of a tower from two points at a distance of
4 m and 9 m from the base of the tower and in the same straight line with it
are complementary. Prove that the height of the tower is 6 m.

Case Study based question: 3
Students of a colony undertake to work for the campaign “say no to plastics”.
They cover the region under the coordinates (2, 3), (10, 3), (x, 6) and (4, 6). The
coordinates of the region taken in the given order form a parallelogram, where the
units of distances are measured in kilometre. The shortest distance between the
longer parallel sides of the region is 3 km. Based on the above information, answer
the following questions (i) to (iii).

() The value of x is

(a) 8 (b) 10 (c) 12 (d) 14
(i) The area of the region cowvered is
(2)16 km’ (b) 24 km® (c) 26 km? (d) 28 km®

(iii) The distance between the first and the last coordinates of the region is

(a) v13km (b) v14 km (c) v15km (d) 16 km
a. Draw a triangle ABC with side BC =6 cm, AB =5 cmand ZABC = 60°. Then
construct a triangle whose sides are %times the corresponding sides of the

triangle ABC. (Traces of construction only is required)

Or 3



b.
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Draw a triangle ABC with side BC =7 cm, £ B = 45°, £ A = 105°. Then,

construct a triangle whose sides aregtimes the corresponding sides of

AABC. (Traces of construction only is required)

11. Answer any one from the following questions (a) to (c).
(2) Find the area of the sector of a circle with radius 4 cm and angle 30°. Also,
find the area of the corresponding major sector (Use = 3.14).

12.

13.

14.

(b)

(©)

1x3=3

A car has two wipers which do not overlap. Each wiper has a blade of
length 25 cm sweeping through an angle of 115°. Find the total area
cleaned at each sweep of the blades.

A solid is in the shape of a cone standing on a hemisphere with both their
radii being equal to 1 cm and the height of the cone is equal to its radius.
Find the volume of the solid in terms of 7.

Consider the following distribution of daily wages of 50 workers of a factory.

Dall(yi/nvya)lges 500-520 | 520-540 540-560 | 560-580 | 580-600
Number of 12 14 8 6 10
workers

Find the mean daily wages of the workers of the factory by using Assumed

Mean Method.

Or

The following data gives the information on the observed lifetimes (in hours)
of 225 electrical components:

Lifetimes g 50 120_40 |40-60 | 60-80 |80 100 | 100 - 120
(in hours)
Frequency | 10 35 52 61 38 29

Determine the modal lifetimes of the components.

One card is drawn from a well shuffled deck of 52 cards. Find the probability of
getting: (i) a face card

a.

(i) a spade

Section - D

(iti) a king of red colour

A two digit number is 5 less than 5 times the sum of its digits. If 18 is
added to the number, the digits are reversed. Find the number.

Or




15.

16.

17.

18.
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A person on tour has ~ 3600 for his expenses. If he extends his tour for
4 days, he has to cut his daily expenses by ~ 30. Find the original duration
of the tour and expenditure per day.

State and prove Basic Proportionality Theorem (Thales Theorem).

Or
P

In the adjoining figure, DE || OQ and ‘k

Q 0 R

Two poles of equal heights are standing opposite to each other on either side
of the road, which is 80 m wide. From a point between them on the road, the
angle of elevation of the top of the poles are 60° and 30° respectively. Find
the height of the poles and distances of the point from the poles.

Or

A TV tower stands vertically on a bank

of a canal. From a point on the other

bank directly opposite to the tower, the

angle of elevation of the top of the tower

is 60°. From another point 20 m away

from this point on the line joining this

point to the foot of the tower, the angle

of elevation of the top of the tower is

30°. Find the height of the tower and the D
width of the canal.

3¢ 60
< 20m > C B

Prove that the parallelogram circumscribing a circle is a rhombus.
Or

Two tangent TP and TQ are drawn to a circle with centre O from an
external point T. Prove that Z/PTQ =2£0PQ.

From a solid cylinder whose height is 2.4 cm and diameter 1.4 cm, a conical

cavity of the same height and same diameter is hollowed out. Find the total
surface area of the remaining solid to the nearest cm?.

Or



19.
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b.  Asolid iron pole consist of a cylinder of height 220 cm and base diameter 24
cm, which is surmounted by another cylinder of height 60 cm and radius 8
cm. Find the mass of the pole, given that 1 cm® of iron has approximately 8 g
mass. [use = 3.14]

a. Ifthe median of the distribution given below is 28.5, find the values of x and
y.

Class interval Frequency
0-10 5
10 - 20 X
20 - 30 20
30-40 15
40 - 50 y
50 - 60 5
Total 60
Or

b. The following distribution shows the daily pocket allowance of children of
a locality. The mean pocket allowance is = 18. Find the missing frequency f.

Daily pocke_t « | 11-13]13-15/15-17 (17-19 | 19-21|21-23|23-25
allowance (in 7)

Number of 7 6 9 13 f 5 4
children

*hkkhkhhkkkhkkhkkhhkkhhhkkhhkihkihkhkkihkhkhkhkhhkiikhihkihihiiiiik
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2023
FOUNDATION OF INFORMATION TECHNOLOGY

Total marks : 70 Time : 3 hours

General Instructions :

i)  Approximately 10 minutes is allotted to read the question paper and revise the
answers.

i)  All questions are compulsory.

iii) The question paper consists of 32 questions.

iv) Internal choice have been provided in some questions.

v)  Marks allocated to every question are indicated against it.

N.B: Check to ensure that all pages of the question paper is complete as indicated on the top left
side.

Choose the correct answer from the given alternatives:

1. WWW uses the protocol. 1
(a) http (b) ftp
(c) www (d) none of these

2. Which of the following is the most complex form of data? 1
() Video data (b) Audio data
(c) Numeric data (d) Text data

3. Number of characters in a field name is 1
(@) 14 (b) 64
(c) 65 (d) 255

4. refers to the different values of same data in different files. 1
(a) Atomicity (b) Data redundancy
(c) Data duplication (d) Data inconsistency

5. Which of the following is not a web browser? 1
(@) Mozilla Firefox (b) Internet Explorer
(c) Opera (d) Notepad

6. Comments should be enclosed within tag. 1
@<---1---1> (b)<!--and --- >
(c)<!—..... and ....—> (d) <---and --- >

7. The default value of numbered list is 1
(a) Roman numerals (b) Arabic numerals

(c) Numbers (d) Alphabets
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8. The attribute is the URL of the image to be inserted in the document.
(@) src (b) align
(c) img (d) alt
9. IS not a tag but an attribute of anchor.
(@) href (b) method
(c) rcf (d) hcf
10. Aspamisal/an
(@) unwanted e-mail (b) piece of software
(c) antivirus (d) none of these

Answer the following questions in about 10-20 words:
11.  What is indexing software?

12.  What are the factors affecting download and upload times?
13.  Distinguish between data and information.

14.  What is DBMS?

15.  What are select and action queries?

16. What is a Validation Rule?

17.  What are heading tags?

18.  What is the use of < body > tag?

19.  How can one create a link to an e-mail address?
20.  What are header and standard cells?

21. How can a text box be created in html?

Answer the following questions in about 20-30 words:
22. a. What is Internet? List any four uses of internet.
Or
b. What is E-group? Write two advantages of E-group.
23.  What is the use of creating relationship in a table? Discuss the two ways to
create a relationship.
24. a. What are < title >, <i>and < html > tags?
Or
b. What are the uses of background, bgcolor and text attributes of < body >
tag?

25.  What are <p >, <br > and < hr > tags?

N N NN NN N DD DN NN
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26.  What are the uses of height, border and width attributes of < img > tag?
27. a. What are action, target and method attributes of < form > tag?
Or

b. How can one create frames in html? Explain with examples.

Answer the following questions in about 50-70 words:
28. a. What is E-banking? Write any three disadvantages of E-banking.
Or
b. Discuss any four benefits of networking.
29.  What are data types? Explain any three data types.
30.  What are subscript and superscript? Explain with examples.
31. a. What are internal and external linking? Explain with examples.
Or
b. What are ordered and unordered list? Discuss the attributes used with
ordered and unordered lists.
32. a. What is sniffing? Discuss the three security measures to protect your
network from sniffing attacks.
Or
b. Explain e-mail related crimes.

*hrhkrhkrhkrhkhrhkihkirhkikhkhkhkhihkikhkikikkkk
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2023
MUSIC
Total marks : 70 Time : 3 hours
General instructions:
i) Approximately 14 minutes is allotted to read the question paper and revise
the answers.
ii) All questions are compulsory.

iii)  The question paper consists of 32 questions.
iv)  Marks allocated to every question are indicated against it.

N.B: Check to ensure that all pages of the question paper is complete as indicated on the
top left side.

SECTION - A : (Ethnic Music)

1. The instruments that Nagas use in their folk music are quite : 1
a) normal in nature b) cultural in nature
c) elementary in nature d) religious in nature

2. Which tribe uses the drum during dance? 1
a)  Yimchunger b) Zeliang
c) Phom d) Konyak

3. The bamboo flute “wewo” is in which dialect ? 1
a) Angami b) Ao
c) Konyak d) Rengma

4. What are the themes of Naga folk music? 2
5. Write short notes on any two of the following: 2%+2Y, =5

a) Cupviolin b) The bamboo mouth organ
c) Trumpet d) Bamboo sounding box



10.

I1.

12.

2

SECTION - B : (Western Music)

Four semiquavers { | | o o } is equivalent to :

a) halfa crotchet beat b) one half crotchet beat

c) one crotchet beat d) two crotchet beats

Name the given note :

- 1
0

F

»
a) G b) B ¢) F d A

Identify the given interval.

a) major 61 b) minor 6
c) major 7" d) perfect 5

3 3

Two quavertriplets( J ‘l J J J ‘I }is equivalenttoa:

a) dotted crotchet b) crotchet
c) minim d) dotted minim

A crotchet beat divides easily into :
a) onequaver b) two quavers

c) three quavers d) four quavers

Write the correct time signature.

it

a) g b) g ) /s d 1%

In a melodic minor scale ascending the degree which are raised by a

semitoglle are : 0w
a) 6th & 7th degree b) Sth & 6th degree
c) 7 &8 degree d) 4 &5 degree

NB-T/MS/1
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14.

15.

16.

17.

18.
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Write correctly grouped quaver and semiquaver rests below the asterisk (*). 2

- }+: :+: k] :+c ; ' * I T 1 I T T 1 -

= | o | I N S I I |I
K| . I
Write the key signature and the tonic triad in the root, first inversion
and second inversion in the key of BP major on the bass stave. 2
Identify the following : 1+1=2
N — = e — =

b) A

The following music contains mistakes in the grouping of notes and rests.
Write it out correctly. 2

i g
n

L 10N
N

-

i

{»

i

Write the correct time signature : 1+1=2
3 E 3 3 El
o _JI JI JTJ T T
E g E 7 El El 3 El

w (1T M T T

Write a tune for cello using the first five degrees of the scale in C major
to the given rhythm and finish on the dominant. 2

QJ%,.,J]JJ]H.EJJIJ]]H., ) ||I
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20.

21.

22.

(4)

Define real and tonal sequences.

Work out the following keys.

NB-T/MS/1

1+1=2

1+1=2

F

;
+

Ay _
= =
T —

n Il

LN ]
o

 1HES

b)

'-JL-"

a)

Write G in the last bar to agree with the anacrusis.

1+1=2

4 '
k1 | |

—

L1

Jal==

| |
L=

e _Emmiei

v
b)

e e

Write a rest in the last bar to agree with the anacrusis.

i
|nY

il

S

I
1
-

=

|
1 T

:

wll

[

Write two more repeats of these bars to make ostinati that moves in

contrary motion.

1+1=2

i
N

-

e ap——__
trg*b

<+t

Bal==

L

e §
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23.  Label the triads with roman numerals and chord symbols to show the

chord progression.
- L LS O I ! :
2 F F—

24. a)

b)

25. a)

b)

Using triplets quavers, write a broken chord using B b major tonic

triad, going up. Use patterns of three notes each time. Finish on
the first B> above the stave.

A

|
1

1
h

& d e

=

- L

e

15+1%4=3

Using quavers beamed in fours, write a broken chord using B minor
triad going down. Use patterns of four notes each time. Finish on

the first B below the stave.
-

[

r—H
g= 8

ot

Use the root of each triad shown by the roman numerals to
write a bass line.

172+1%=3

n M ) ﬁl t M
foma S T
'_J I
) A
I I v I

Use notes from the tonic or dominant triads shown by the roman
numerals to write a tune above the bass line.

A
1 F )
| r
12 4 . LA 8 ]
A -
el
= hF F = I
LI | = =
7 h T i T
— iy I
I v v

L
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27.

28.

29.

30.

31.

(6) NB-T/MS/1
Draw the following intervals up from the given keys as directed. 6x),=3
a) b) c) d) e) f)
A - - - # ol
= Sy—o—s) o 7 ran
o — e L —
e perfect perfect major minor e major . m;;or
fifth fourth sixth second third seventh
Transpose the following tunes as directed. 15+1%=3
a) Upanoctave.
s
g ———— —
b) Downan octave.
P —
— jl - = T -ﬂl
|
l-lv e lh—---d -

Write triads on the tonic and dominant degrees of the Bm (harmonic)
scale using semibreve and label with chord symbols and roman
numerals, in the bass stave, descending, with key signature. 6x’2=3

Identify the cadences and label them with correct roman numerals.  1%2+1%=3

A |

|
X v [ 7
= — A

T ¥
| L

| = F’L

|

o]

Using crotchet, write a 4 part - chord (SATB) using the chords
shown by a roman numeral. Use key signature.

a) Eminor

b) D major

I

<%

|

o

LI

I | F—

12+1%=3

Construct the following scales with semibreves. Use key signature and
necessary accidentals. (ascending)
a) Aharmonic minor, treble stave
b) F major, bass stave
¢) Gmelodic minor, treble stave
d B b major, treble stave
e) D natural minor, bass stave

5x1=5



32.

Look at the following music and answer the questions that follow.

o — N ng—__

- p——_

)

A Tramgmllo
ARt
-'-'jf' - 1 ! 1 I |r.| i It 1
1 — I u
' i s —
+ . . * * .
L I- '-dl | ﬂ! - '. H | :
if- i% i - 1 i s éEfzt:
oy e
7k a ——— - o  —
T é-l_-i 1 1 d i 1 1

What is the key in this piece ?

What does the time signature indicate?

What is the meaning of ‘tranquillo ?
Name the interval between the two notes marked with
asterisks (*) in the 6" bar.

How many counts or beats will T' > get in this piece ?

sk sk sk she st ske st sk sfe sk sfe sk sfe s sfe ke she sk sk sk sk skeoske stk sk skeok

NB-T/MS/1
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HOME SCIENCE
Total marks : 70 Time : 3 hours

General instructions :

i)  Approximately 15 minutes is allotted to read the question paper and revise the
answers.

i)  All questions are compulsory.

iii) The question paper consists of 32 questions.

iv) Marks allocated to every question are indicated against it.

N.B: Check that all pages of the question paper is complete as indicated on the top left side.

Choose the correct answer from the given alternatives:

1. The average weight of a child at birth is 1
(@ 1.5-2kg (c) 3.5-4.5kg
(b) 2.5-3kg (d) 4.5-5kg

2. Which of the following is an indoor play material? 1
(@) Football (c) Tricycle
(b) Clay and sand (d) Puzzles

3. An additional intake of protein is recommended for pregnant and lactating
mother. 1
(@ 10-15gms (c) 25-30gms
(b) 15-25gms (d) 30-35gms

4. Osteomalacia is caused due to deficiency of 1
(@ Vitamin A (c) Vitamin C
(b) Vitamin D (d) Vitamin K

5.  Perishable food starts losing their appearance and nutritive value within 1
(@ 2-3days (c) 8-9days
(b) 4-5days (d) 10-12 days

6. is one resource which is available to all equally. 1
(@ Time (c) Energy
(b) Knowledge (d) Skills

7. Act 2005, was enacted by the Government for promoting openness,
transparency and accountability in the working of every public authority. 1
(@) Right to Safety (c) Rightto Select

(b) Right to Information (d) Right to Consumer Education
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8.  Which standardization mark is marked on agricultural product? 1
(@ ISl (c) FPO
(b) AGMARK (d) BIS

9. is known as Ikebana form of flower arrangement. 1
(@) Line arrangement (c) Small arrangement
(b) Mass arrangement (d) Dry arrangement

10. Neem soap, carboxylic soap and soap containing sulphur are soaps. 1
(@) toilet (c) hard
(b) medicated (d) flake

Answer the following questions in 20-30 words :

11. How does play help in the development of self-insight in children? 2
12. How does the size of the family affect meal planning? 2
13. Why is the proper selection of food product important? 2

14. Define food hygiene. Why is cleanliness of a person essential in cooking
and serving food? 2

15. Distinguish between personal and shared resources.

16. Enumerate any two factors affecting wise use of resources. 2
17. What is budget? Why is it important? 2
18. State any two advantages of consumer education. 2
19. What is harmony? Which elements of art are used to bring harmony? 2
20. Differentiate between formal and informal balance in flower arrangement. 2
21. What does the following symbol on readymade garment indicate? 2
a) D b) %
22. What is a placket? Where do we find it in our garment? 2

Answer the following questions in 40-60 words :
23. Enumerate any three factors that affect emotional development of a child. 3

24. (a) Write any three significances of play in the life of a child.
Or 3
(b) What are the different types of play according to playmates? Explain briefly.
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25. (a) Explain briefly the ill effects of excessive intake of fats.
Or 3
(b) Enumerate any three advantages of germination of food.
26. “Meal planning is important’. Give any three reasons. 3
27. (a) Explain any three factors affecting expenditure of a family.
Or 3
(b) Explain any three methods to ensure safe and sound investment.

28. Discuss any three malpractices followed by seller under ‘defective weights
and measures’. 3

29. (a) What points should be kept in mind while arranging colours?
Or 3
(b) Enumerate the various steps of flower arrangement.

Answer the following questions in 80-100 words :
30. (a) State five differences between growth and development.
Or )

(b) What is social development? Trace the social development in children
from 0-12 months.

31. (a) What are the functions of carbohydrates in our body? Mention five points.
Or )

(b) Enumerate any five points each on how nutrients can be conserved during
preparation and cooking of food.

32. (a) Write any five properties of a good soap.
Or )

(b) Discuss the various steps in laundering process.

*khkkkhkkkhkkhkkhkhkhkhkhkkikhkikhkhikkiikkikk
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2023
BOOK-KEEPING & ACCOUNTANCY

Total marks : 70 Time : 3 hours.

General instructions:

i) Approximately 15 minutes is allotted to read the question paper and revise the
answers.

i) The question paper consists of 32 questions. All questions are compulsory.

iii) Internal choice has been provided in some questions.

iv) Marks allocated to every question are indicated against it.

N.B:Check that all pages of the question paper is complete as indicated on the top left side.

Choose the correct answer from the given alternatives:

1. The statement of assets and liabilities is
(@) balance sheet (b) trial balance
(c) trading account (d) profit and loss account
2. Final accounts are prepared
(@) atthe end of calendar year (b) at the end of assessment year
(c) atthe end of accounting year (d) on Christmas
3. The bank which helps in the payment of foreign trade is
(@) central bank (b) exchange bank
(c) commercial bank (d) indigenous bank
4, The debit balance of pass book is
(@ plusbalance (b) minus balance
(c) both plus and minus (d) neither plus nor minus
5. If deposits exceeds the withdrawals from the bank, cash book will show
(@ plusbalance (b) minus balance
(c) overdraft balance (d) both plus and minus balance
6. How many sets of bills are prepared in bills of exchange in case of foreign
bills?
(@) one (b) two
(c) three (d) four

7. On maturity, a bill is met by its
(@) endorsee (b) payee
(c) drawer (d) drawee



-2- NB-T/BK/1

8. Errors detected before preparation of trial balance are rectified
(a) without opening a suspense account
(b) by opening a suspense account
(c) by transferring to profit and loss account
(d) by transferring to trading account

9. Depreciation is calculated on
(@) current assets (b) wasting assets
(c) fixed assets (d) fictitious assets

10.  Depreciation is caused by
(a) obsolescence (b) wear and tear
(c) passage of time (d) all of the above

Answer the questions in about 20-30 words:

11.  What is meant by financial statements?

12.  Define the term banking.

13.  Mention any four types of account that can be opened with the bank.
14.  What is meant by compensating errors?

15.  What are the two parts of errors of omission?

16.  Write the meaning of obsolescence.

Answer the questions in about 30-50 words:

17.  Explain any three importance and purposes of profit and loss account.
18.  Mention and explain any three features of balance sheet.

19.  Explain how the bank balance will be treated as plus balance.

20.  Name and explain the parties of promissory notes.

21.  Write and explain the advantages of diminishing balance method.

22.  “The useful life of assets depends upon certain factors”. State any three factors.
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Answer any four from questions no. 23 to 30 in about 70-100 words: 4x5=20

23.  Explain the benefits of E-banking to the customer.

24.  Explain the new services provided by the banks due to the introduction of
computerized equipment.

25.  Explain the steps for creation of bank reconciliation statement.

26.  Prepare a bank reconciliation statement from the following particulars as on
31% December, 2016.

i) Balance as per cash book ~ 1,14,400.

i) Chequesof ™ 11,250, ~ 1,870 and ~ 1,350 were issued in the month and
were presented for payment in January.

iii) Cheque of ~ 11,500 and ~ 1,850 were sent for collection. However no
cheques were collected in the year.

iv) Bank charges = 180 for commission.

v) 1,170 was allowed by the bank as interest.

27.  Write and explain any five differences between bills of exchange and
promissory note.

28.  OnJanuary 1, 2020, Atso sold goods to Naro for ~ 5,000 payable after 3
months. Naro accepted and returned it to Atso who retained the bill and duly
met on maturity.

Pass journal entries in the books of both the parties.
29.  Explain the errors of commission.
30.  The trial balance extracted from the books of Ayunlo Tep on 31% March, 2018

did not agree. The difference was transferred to the suspense account. During

2018-2019, the following errors were discovered.

i)  The total in the purchases book was short by ~ 450

i)  The total of one page in the sales book was carried forward to the next
page as = 3,955 instead of = 3,595

iii) Goods returned to Anao Konyak worth ~ 2,000 were not entered in the
books at all.

iv) Asalesof = 3,000 to Zhavituo was wrongly entered as ~ 300 in the sales
book.

v) Anamountof ~ 900 spent on repairs was debited to the building
account.
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Answer the questions in about 70-100 words:

31. a. Mention and explain five points to be considered while preparing final
accounts.
Or 5
b. Prepare trading, profit and loss account and balance sheet as on 31* December,
2020 from the following trial balance of M/s. Lanu Trading Co.

Particulars Debit Credit
Balances ~ Balances ~

Stock 2,000
Purchases and Sales 7,500 21,250
Sundry Debtors and Creditors 5,500 1,500
Carriage 750
Wages 3,600
Rent and taxes 2,400
Bank 2,000
Capital 17,000
Plant and machinery 16,000

39,750 39,750

The closing stock as on 31* December, 2020 was valued at ~ 2,500.

32. a. Mention and explain any five objectives of charging depreciation.
Or )
b. Amen purchased a machinery on 1% January 2015 for > 20,000. She depreciates it
every year on 31* December using straight line method at the rate of 10% p.a.
Show the machinery account for the first 5 years.
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General instructions:

i)  Approximately 15 minutes is allotted to read the question paper and revise the
answers.

i)  The question paper consists of 32 questions. All questions are compulsory.

iii) General option questions are provided in 5 and 6 marks questions.

iv) Marks allocated to every question are indicated against it.

N.B: Check that all pages of the question paper is complete as indicated on the top left side.

1. Choose the correct answer from the given alternatives: 10x1=10
(i). The plantation done on vacant land and lands unfit for agriculture is called
(a) Commercial forestry (b) Urban forestry
(c) Agro forestry (d) Forestry
(if). Water logging also leads to
(a) Deforestation (b) Soil erosion
(c) Landslide (d) Floods
(iii). Termite mounds are suitable for
(a) Oranges (b) Lemons
(c) Sorghum (d) Banana
(iv). Agricultural discharges, toxic metals and detergents are the major sources of
(@) Soil pollution (b) Air pollution
(c) Noise pollution (d) Water pollution
(v). Forests are the lifeline of
(@) Tribal people (b) Semi-urban people
(c) Rural people (d) Urban people
(vi).Which of the following is not a greenhouse gas?
(a) Carbon dioxide (b) Oxygen
(c) Nitrous oxide (d) Methane
(vii). Sacred groves
(a) Cause soil erosion (b) Disturb water cycle

(c) Are reservoirs of biodiversity (d) Lead to soil instability
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(viil). While purchasing pulses, flour, edible oil, ghee, rice etc, consumers should look

for
(a) Hall mark (b) Ecomark
(c) ISI mark (d) Agmark
(xi). Trout may become extinct due to
(@) Climate change (b) Sea water
(c) Salt water (d) Hunting
(x). Water harvesting is the activity of direct collection of
(@) Ground water (b) Rain water
(c) Sea water (d) River water

Answer the following questions in one word or one sentence not exceeding
15 words:

2. Write the meaning of the word ‘zabo’. 1
3. Mention one disadvantage of shifting cultivation. 1
4. Define noise. 1
5. Write the meaning of the word ‘tsunami’. 1
6. Who is a consumer? 1
7. Write the full form of CNG. 1
Answer the following questions in about 20 - 30 words:
8. Mention two advantages of afforestation. 2
9. State any two harmful effects of soil erosion. 2
10. Write any two causes of oil spill. 2
11. Mention any two effects of thermal pollutants. 2
12. Write any two sources of noise pollution. 2
13. Mention any two reasons for energy crises. 2
14. Write any two effects of ozone depletion. 2
15. “United Nations has guaranteed eight consumer rights to citizens of all nations’
Mention any two of them. 2

Answer the following questions in about 30 - 50 words:
16. Mention any three measures involved in conservation and management of water. 3

17. Write any three benefits of agro-forestry. 3
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18. Mention three effects of radioactive pollutants in water.
19. Differentiate between global warming and climate change.
20. Mention any three sources of greenhouse gases.

21. List any three man-made factors of landslide.

w W w W w

22. Write any three factors responsible for degradation and loss of wildlife.
Answer any three from the following questions in about 50-60 words:

23. State five reasons why conservation of forest is essential.

24. Mention five importance’s of coral reefs.

25. Write five public awareness programmes that convey awareness about water.
26. Mention any five benefits of biofertilizers.

27. Write any five major effects of drought.
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28. Mention any five mitigation measures for fire.

Answer any two from the following questions in about 70-100 words:
29. Write any six effects of noise pollution on human health.

30. Mention any six measures to control soil pollution.

31. Write any six ways through which food article is adulterated.

D o o o

32. Mention six measures to stop cruelty to animals.
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Information Technology ES (Vocational)
Total marks : 50 Time : 2 hours
General instructions :
i) Approximately 15 minutes is allotted to read the question paper and revise the
answers.
i)  All questions are compulsory except Q. nos.18 to 23 where general option is given.
iii) The question paper consists of 23 questions.
iv) Marks allocated to every question are indicated against it.

N.B: Check that all pages of the question paper are complete as indicated on the top left side.

1. Choose the correct answer from the given alternatives: 10x1=10

i.  The word ‘communication’ is derived from a Latin word meaning
(@  Toshare (b) Togive
(c) Totake (d Totry

ii.  Communication which involves interchanging messages only through images and
pictures is called

(@ Verbal communication (b)  Non verbal communication
(c)  Visual communication (d)  Actions
iii. A set of dreams with a deadline to get them are called
(@  Opinions (b)  Values
(c)  Abilities (d) Goals
iv. Time management is the thinking skill that helps to
(@ Waste time (b)  Delay planned activity
(c) Complete tasks on time (d)  Indulge in useless activity

v. Mails from companies who are advertising a product or trying to attract you to their
website are called

(@  Antivirus (b)  Spam
(c)  Thrash (d)  Notepad
vi. What should a strong password consist of?
(@  Only letters (b) Numbers and special character

(c)  Letters, numbers and special character (d) Name of a person
vii. Which of the following is a quality of an entrepreneur?

@ Having misconceptions (b)  Being indecisive

(c) Beingirresponsible (d)  Trying new ideas
viii. A false belief about something is called

(@  Misconception (b) Risk

(c) Reality (d) Truth
ix. Which of the following is an eco friendly fuel?

@ LPG (b) Diesel

(c) Petrol (d) Bio gas

X. Which of the following is not a sustainable goal according to United Nation?
@ Clean water and sanitation  (b)  Quality education
(©) Population (d)  Reduced inequality
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Answer the following questions in one word or one sentence:

© N UA N

What is a template?

Write the full form of TOC.

How will you delete a scenario?

What is the use of tools>goal seek?
List any two types of database

What is the use of function in a query?
What is hot work?

Define emergency.

Answer the following questions in 20-50 words:

10.
11.
12.
13.
14.
15.
16.
17.

Write any two mechanisms to modify both predefined and custom styles.

What is the use of fill format mode?

Write a short note on data>consolidate.

What is macro? Write its use.

Differentiate between main form and sub form.

Write any two uses of report in a database.

List any two main causes of fire and explosions, when using oxygen.
Mention any two safety measures of smoking.

Answer any four from the following questions in 60-100 words:

18.
19.
20.
21.
22.
23.

Write any two image filters and their effects.
Write four steps to merge a document in calc.
Write the steps in creating a DDE link in calc.

Mention any four logical functions and its description of a function wizard.

List four sources of hazard.

e
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Write any four precautionary measures for fire, if plant and equipment are not

properly maintained.

FhrhkrhkrhkArhkkrhkrhkdrhkkhkkhkkdhkhhkkhhkhkkhkhkikhkhkkhkkhkik

4



Total number of printed pages : 2 NB-T/T&H(V)/1
2023
Tourism & Hospitality (Vocational)
Total marks : 50 Time : 2 hours
General instructions :

i)  Approximately 15 minutes is allotted to read the question paper and revise the
answers.

i)  All questions are compulsory except Q. nos.18 to 23 where general option is given.

iii) The question paper consists of 23 questions.

iv) Marks allocated to every question are indicated against it.

N.B: Check to ensure that all pages of the question paper are complete as indicated on the top

left side.
1. Choose the correct answer from the given alternatives: 10x1=10
i.  What type of word should be used for verbal communication?
(@  Acronyms (b)  Simple
(c) Complex (d) Jargons
ii.  What makes you complete your work or studies without others cheering you?
(@  Self confidence (b)  Self management
(c)  Self motivation (d) Self esteem
iii. The organization that has made the Sustainable Development Goals is the
(@ UNESCO (b)  UNICEF
(c) WHO (d) UN
iv. Floated hotels are located in
@ quiet surroundings (b)  bigcities
(©) metropolitan cities (d)  surface of water
v.  Which of the following etiquette should be avoided while talking to guest?
(@  Always smile (b)  Stand erect at ease
(c)  Lean against the counter (d)  Maintain eye contact

vi. Unwanted jokes, gestures, offensive words on clothing and unwelcome comments
are considered as

(@  sexual harassment (b)  human rights violation
(c)  sexual abuse (d)  sexual violence
vii. Food borne illness and infection linked to consumption of contaminated fish and
seafood.
@) Pneumonia (b)  Thrush
(©) Meningitis (d)  Vibrio cholera

viii. Intellectual property has its own unique features to distinguish itself from other types
of rights. Which of the following is not an IP feature?

(@  Territorial (b)  Independence
(c)  Trademarks (d) Indivisible

ix. The Health and Safety Executive provides guidance and general information about
(@)  dispose of refuse (b)  personal protective equipment

(c)  housekeeping (d)  hotel management
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X.  Which of the following can be considered as a powerful non verbal communication?

@ Asmile (b)  Handshake
(c) Eye contact (d) Confidence

Answer the following questions in one word or one sentence:
What is self management?

Define ‘hospitality’.

What is table setting?

List any two facilities available for senior citizens in hotels.
What is Geographical Indication?

What does HACCP stand for?

What is one of the biggest cause of injuries on the job and may be grounds
for dismissal? 1

9.  Mention any two tips that will help you to make best use of the suggestions
you receive for improving your work. 1
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Answer the following questions in 20-50 words:

10. Write any two advantages of verbal communication. 2
11. Write any two functions of the ENTER key. 2
12. What is entrepreneurship? Write any two functions of entrepreneurs.  1+1=2
13.  Write any two offensive habits that should be avoided when with the guest. 2
14. Write any two guidelines to prevent sexual harassment in the workplace. 2
15. What are the two categories of intellectual property? Write one example

each for the two categories. 1+1=2
16. What is food safety? 2
17. Mention any two safety precautions one must observe in work area. 2
Answer any four from the following questions in 60-100 words:
18. Briefly explain any four types of services in the hospitality industry. 4
19. Define table manners. Explain any three ways to give the appearance of

being confident, yet comfortable. 1+3=4

20. Explain any four facilities that can be provided to motivate female worker. 4

21. Explain the four types of intellectual property. 4
22. Briefly explain food labeling. 4
23. Describe the importance of English language in hospitality industry. 4
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Retail (Vocational)
Total marks : 50 Time : 2 hours

General instructions :

i)  Approximately 15 minutes is allotted to read the question paper and revise the
answers.

i) All questions are compulsory except Q. nos.18 to 23 where general option is
given.

iii) The question paper consists of 23 questions.

iv) Marks allocated to every question are indicated against it.

N.B: Check to ensure that all pages of the question paper are complete as indicated on the top
left side.
1. Choose the correct answer from the given alternatives: 10x1=10

i.  The process through which a business firm shares valuable information with its
customer is known as

a) business communication b) customer communication
C) commercial communication d) customer review
ii. Itisused to describe all the activities that keep the store functioning well.
a) Wholesale operation b) Market operation
C) Retail operation d) Store operation
iii. DSD stands for
a) direct store delivery b) digital store delivery
C) data system delivery d) direct system delivery
iv. Rail transport service is a good choice for shipment of
a) building materials b) lumber and coal
C) oil d) edible commodities

v. According to ‘work safety advice’, it is recommended that men don’t lift
anything heavier than

a) 45 kilograms b) 35 kilograms
c) 25 kilograms d) 15 kilograms
vi.  Which of the following is not a common communication barrier?
a) Linguistic b) Financial
c) Interpersonal d) Organisational
vii. Valuable information that will be used to make important decision is known as
a) review b) communication
c) survey d) feedback
viii. In SMART goal setting, what does the letter ‘A’ stand for?
a) Achievable b) Attainable
c) Available d) Adorable
ix. What is the short cut key ctrl+z used for?
a) Copy b) Paste

C) Undo d) Cut
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How many Sustainable Development Goals were launched by the United
Nations?

a) 20 b) 19

c) 18 d) 17

Answer the following questions in one word or one sentence:

2. What is retail store operation? 1
3.  State any one factor that should be kept in mind while delivering products. 1
4.  Write any one responsibility in lifting and handling operations. 1
5. What is ‘just in time’ in stock control? 1
6. What is team work in retail store? 1
7. What is conceptual skill? 1
8.  List any two basic ways in which people can help towards achieving

Sustainable Development Goals.
9.  What is the function of ENTER key? 1

Answer the following questions in 20-50 words:

10. Write any two safety ways of handling products in retail store. 2
11. State the objectives of the retail transportation. 2
12. Write any two factors affecting loading and unloading of merchandise. 2
13. Differentiate between health and hygiene in retailing. 2
14. List any two potential hazards in retail store and state their harmful

effects. 1+1=2
15.  What is non verbal communication? Write any two types of non verbal

communication. 1+1=2
16. Mention any two rights of employees in retailing. 2
17. What is entrepreneurship? Write any two functions of an entrepreneur.

1+1=2
Answer any four from the following questions in 60-100 words:

18. Explain any four fundamentals of retail operation. 4
19. Explain any four core competencies required for Store Operation Assistant. 4
20. Briefly explain four common modes of retail transportation. 4
21. Describe the techniques of lifting goods. 4
22. Explain four ways on how to work effectively in a team. 4
23. What is time management? Briefly explain three steps for effective

time management. 1+3=4
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Total number of printed pages : 2

Total marks : 50

2023
Beauty & Wellness (Vocational)

General instructions :

i)

i)
iii)
iv)

N.B:

1.
I.

Vi.

Vil.

viii.

Approximately 15 minutes is allotted to read the question paper and revise the
answers.
All questions are compulsory except Q. nos.18 to 23 where general option is
given.

The question paper consists of 23 questions.

Marks allocated to every question are indicated against it.

Check to ensure that all pages of the question paper are complete as indicated on the top
left side.

Choose the correct answer from the given alternatives:
Which of the following acts as a protective shield for the body?

a) Muscles b) Bones

c) Skin d) Nerves

Which of the following is an example of oral communication?
a) Newspapers b) Letters

c) Phone call d) Email

It is the uppermost layer of the hair.

a) Cortex b) Cuticle

c) Medulla d) Follicles

Which of the following is the muscle of the neck?

a) Latissimus dorsi b) Temporalis

c) Caninus d) Supine
Ingredients which give the products a shimmering effect is
a) Cobalt Blue b) Perfumes

C) Alcohol d) Pearlised Agents
It acts as heat insulator and protects the head.

a) Scalp hair b) Body hair

c) Eyelashes d) Hair shaft

In smart goal setting, the letter ‘A’ stands for

a) Admirable b) Achievable

c) Attentive d) Attraction
Which of the following key is used to paste a file?

a) Ctrl+a b) Ctrl+c

C) Ctrl+p d) Ctrl+v

Which organization has made the Sustainable Development Goals?
a) United Nations b) UNESCO

c) UNICEF d) World Health Organization

NB-T/B&W(V)/1

Time : 2 hours
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X. People who work for a person or organization and get paid for the work are
called
a) Entrepreneur b) Businessman
C) Wage employed d) Self employed

Answer the following questions in one word or one sentence:

2. List two most commonly used method for removing unwanted hair. 1
3. What is non verbal communication? 1
4, Write one negative effect of Gutkha on health. 1
5. What type of thread is required for threading? 1
6. State one way to protect data in a computer. 1
7. What is used to improve or correct imperfections of skin? 1
8. Name the two major fibers of dermis. 1
9. List any two Sustainable Development Goals. 1
Answer the following questions in 20-50 words:
10.  State any two uses of toners and fresheners. 2
11.  List any four contra-indications of skin sensitivity test. 2
12.  State any two characteristics of oily skin. 2
13.  Write any two steps to be followed to clean makeup sponge. 2
14.  Mention any two myths and misconceptions about entrepreneurship. 2
15.  Why is patch test performed before bleaching? What chemicals are used

as bleaching agent? 1+1=2
16.  Name any two commonly used makeup brushes and write their uses. 1+1=2
17.  Write any two telephone call ethics for salon staff. 2
Answer any four from the following questions in 60-100 words:
18.  Briefly explain four steps for effective time management. 4
19.  Explain the importance of team work in a beauty salon. 4

20.  Mention any two equipments required for waxing. Write any three
after care advice that should be provided to the client after waxing.  1+3=4

21.  Explain four procedures to perform skin analysis. 4
22.  What products should be used if the client has sensitive/allergic skin?

Write six steps to apply foundation. 1+3=4
23.  Explain any four basic functions of the skin. 4
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Electronics & Hardware (Vocational)
Total marks : 50 Time : 2 hours
General instructions :
i) Approximately 15 minutes is allotted to read the question paper and revise the
answers.
i)  All questions are compulsory except Q. nos.18 to 23 where general option is given.
iii) The question paper consists of 23 questions.
iv) Marks allocated to every question are indicated against it.

N.B: Check that all pages of the question paper are complete as indicated on the top left side.

1. Choose the correct answer from the given alternatives: 10x1=10

I.  The strength of an electric field is represented by
(@ Tesla (b)  Newton per cuolomb
(c) Gauss (d)  Coulomb per second

il. Arelays contact electrical life ranges from
(@ 100,000 to 500,000 cycles  (b) 100,000 to 400,000 cycles
(c) 100,000 to 300,000 cycles  (d) 100,000 to 200,000 cycles

iii. A motor that reverses the direction of an electrical current at regular times is called

(@ DC motors (b)  Brushed (BDC) motors
(c)  AC motors (d)  Induction motors
iv. Which of the following is not a part of mixer grinder?
(@) Blade (b)  Motor unit
(c)  Stirrer fan (d)  Speed selector
v.  Which of the following juicers is known as cold press juicers?
(@  Centrifugal juicers (b)  Masticating juicers
(c)  Triturating juicers (d)  Reamers
vi. Which of the following generates microwaves in microwave oven?
(@  Magnetron (b)  Turntable
(c)  Fan blower (d)  High voltage diode
vii. If the microwave oven is making a buzzing or humming noise, then it could be a
problem of
(@)  Magnetron (b)  Thermo protector
(c)  Power settings (d)  High voltage diode
viii. Under which type of fire does wood, paper, cloth, rubber and plastic come?
@ TypeA (b) TypeB
() TypeC (d) TypeD
ix. The full form of SOP is
(@)  Set of protocols (b)  Standard operating procedures
(c)  Set of procedures (d)  Standard operating protocols

X. Which of the following is not a sustainable goal according to the United Nations?
@ Clean water and sanitation  (b)  Quality education
(©) Reduced inequality (d)  Population
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Answer the following questions in one word or one sentence:

2. What is RPM of motor? 1
3. What is the working principle of fuse? 1
4. Name any two kitchen ingredients that are used to clean mixer grinder. 1
5. Mention any two reasons that cause overload in mixer grinder. 1
6. State one use of a microwave oven. 1
7. What are the ovens inside panels and windows made of? 1
8.  Mention any two common workplace chemical hazards. 1
9.  Name any two examples of non-verbal communication. 1
Answer the following questions in 20-50 words:
10. State Fleming’s left hand rule. 2
11. What are relays? List one way how protective relays prevent equipment
damage. 1+1=2
12. Differentiate between masticating and centrifugal juicers. 2
13. What is a mixer? Name any two parts of electric mixer. 1+1=2
14. What is e-waste? Write an example of an e-waste. 1+1=2
15. List any two ways to protect data in a computer. 2
16. What does the acronym PASS stand for in fire extinguishers? 2
17. Write any two functions of an entrepreneur. 2
Answer any four from the following questions in 60-100 words:
18. Explain brushed (BDC) and brushless (BDLC) motors. 4
19. Explain any four frequently occurring faults in mixer/juicer/grinder. 4
20. Explain any four important features of microwave oven. 4

21. Write the full form of BEE. What is BEE star rating? Who puts BEE star rating
labels? 1+2+1=4
22. State any four reasons to quit fighting a fire and to evacuate immediately. 4

23. What is time management? Mention three ways to effectively manage time.
1+3=4
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2023
Multi Skill Foundation Course (Vocational)

Total marks: 50 Time: 2 hours

General instructions:

i)  Approximately 15 minutes is allotted to read the question paper and revise the
answers.

i)  All questions are compulsory.

iii) The question paper consists of 23 questions.

iv) Marks allocated to every question are indicated against it.

N.B: Check to ensure that all pages of the question paper are complete as indicated on the top

left side.
1. Choose the correct answer from the given alternatives: 10x1=10
I.  The isometric projections angle should be drawn at
(@ 90’ (b) 45°
(c) 30° (d) 15°
ii.  Petrol engines are also known as
(@) compressor ignition engines (b) spark ignition engines
(c) external combustion engines (d) 2 sroke engines
iii. In which plant is cleft grafting done?
() Mango (b) Rose
(c) Pineapple (d) Banana
iv. Which of the following is not an element of air pollution?
(@) Sulphur dioxide (b) Oxygen
(c) Carbon dioxide (d) Carbon monoxide
v.  Which of the following is a breed of buffalo?
(@) Sahiwal (b) Dangi
(c) Khilar (d) Murrah
vi.  Which of the following age and above is considered as senior citizens?
(@) Eighty years (b) Seventy years
(c) Sixty years (d) Fifty years
vii. Which of the following is an example of service business?
(@) Grocery shop (b) Automobile showroom
(c) Coaching centre (d) Electronics store
viii. Which of the following is not a type of paint coating?
(@ Overcoat (b) Primer
(c) Undercoat (d) Finishing coat
ix. Verbal communication means to communicate using
(@) gestures and expressions (b) signs and symbols

(c) written and oral words (d) demonstrations
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X.  The full form of email is
(@) easy mail (b) electronic mail
(c) efficient mail (d) extendable mail

Answer the following questions in one word or one sentence:

What does ICT stand for?

What is welding?

Define solar energy.

What is rain water harvesting?

Name any one type of plant propagation.

What is artificial insemination?

Name the instrument used for measuring blood pressure.
Write an example each on perishable and non-perishable food.
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Answer the following questions in 20-50 words:

10. What is die stock? List any two types of die stock. 1+1=2
11. Write any two advantages of DOL starter. 2
12. State the importance of quality education towards sustainable development. 2
13. Mention any two elements/nutrients required by plants and write

their function. 1+1=2
14. Why is soil testing important? 2
15. What is meant by water pollution? List any two major sources of

water pollution. 1+1=2
16. List any four elements of communication. 2
17. Differentiate between interests and abilities. 2
Answer any four from the following questions in 60-100 words:
18. Explain any four from the 5s of engineering workshop. 4
19 What is ferro-cement? State any three benefits of ferro-cement. 1+3=4
20. Describe the working system of sprinkler irrigation method. 4
21. Write any four differences between two stroke and four stroke engines. 4
22. Mention any four steps to be followed in the maintenance of inverter

and battery. 4
23. Why is mental health important? List any four behaviors or signs of

mental problem. 2+2=4

*khkkkkhkkkhkkkhkhkhkhkhkkhkhkhkhkhhkrhkhkihkrhihkihhkihikiikikx



Total number of printed pages : 2 NB-T/AG(V)/1

2023
Agriculture (Vocational)

Total marks : 50 Time : 2 hours
General instructions :

i)
i)
i)

iv)

N.B:

1.
I.

Vi.

Vil.

Approximately 15 minutes is allotted to read the question paper and revise the
answers.

All questions are compulsory except Q. nos.18 to 23 where general option is given.
The question paper consists of 23 questions.

Marks allocated to every question are indicated against it.

Check that all pages of the question paper are complete as indicated on the top left side.

Choose the correct answer from the given alternatives: 10x1=10
Total dissolved salt in irrigation water is measured by

(@  Hygrometer (b)  Lux meter

(c)  pH meter (d) EC meter

The critical stage of irrigation in cabbage is the

(@ Head formation (b)  Flowering stage

(c) Seed germination (d)  Harvesting stage

The most common weeds in vegetable crops is

(@  Annual (b)  Biennial

(c)  Perennials (d)  Winter annuals

Living organisms such as fungi, bacteria and insects that are used to control weed
population are known as

(@ Myco herbicides (b)  Persistent herbicides
(c) Herbigation (d)  Bio herbicides
The most active stage of tomato fruit borer is
(@  Adult (b)  Caterpillar
(c) Larvae (d) Pupae
Botanical pesticides are obtained from
(@  Animals (b)  Fungus
(c) Plants (d)  Flowers
Ripening is associated with rapid increase in
(@) Respiration (b)  Transpiration
(c)  Evaporation (d)  Pollination
viii. In sand and coir method, the produce is covered with sand and
(@  Straws (b)  Manure
(c)  Cotton fibre (d) Coconut fibre
How can antivirus protect your devices?
(@  Increase its performance (b)  Protect it from overheating

(c)  Prevent data from getting corrupt  (d) It can back up data

X. Which organization has made the sustainable development goals?

@ UNESCO (b)  United Nations
(©) UNICEF (d)  World Health Organisation
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Answer the following questions in one word or one sentence:

2. What is irrigation? 1
3. What are herbicides? 1
4.  What does NSKE stand for? 1
5. What are pathogens? 1
6.  List two visual maturity indices. 1
7. What is sorting? 1
8.  What is time management? 1
9.  Write any two functions of an entrepreneur. 1
Answer the following questions in 20-50 words:
10. Write any two roles of water in plants. 2
11. Write any two characteristics of weeds. 2
12. Write any two precautions to be taken while applying weedicides. 2
13. What are trap crops? Give an example. 2
14. Differentiate between pathogens and predators with an example each. 2
15.  Mention any two causes of impairing quality of produce in transit. 2
16. List any two objectives of post harvest technology. 2
17. What is ICT? Name two main parts of computer system. 2
Answer any four from the following questions in 60-100 words:
18. Briefly explain the four methods of irrigation system. 4
19. Write any four differences between broadleaf and narrow leaf weeds. 4
20. Briefly explain the four methods of weed management. 4
21. What is damping off? Write any three control measures for damping
off. 1+3=4
22. What is post harvest handling of solanaceous crop? List any three causes of post
harvest losses in vegetables. 1+3=4
23. Explain four different types of verbal communication with suitable examples.
4
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Healthcare (Vocational)
Total marks : 50 Time : 2 hours

General instructions :

i) Approximately 15 minutes is allotted to read the question paper and revise the
answers.

i)  All questions are compulsory except Q. nos.18 to 23 where general option is given.

iii) The question paper consists of 23 questions.

iv) Marks allocated to every question are indicated against it.

N.B: Check that all pages of the question paper are complete as indicated on the top left side.

1. Choose the correct answer from the given alternatives: 10x1=10
I.  The word hospital is derived from a Latin word ‘hospitalis’ which means
(@ Home (b)  Host
(c)  Hurt (d) House
ii. The dietary department has the responsibility for ensuring quality
(@ Laundry service (b)  Housekeeping
(c) Food service (d)  Administration
iii. A hospital with bed strength of 200 to 300 beds is called
(@)  Referral hospital (b)  District hospital
(c)  Primary health care (d)  Community health care
iv. The care plan should be developed and initiated within
(@ 8 hours (b) 9 hours
(c) 10hours (d) 11 hours
v. Which of the following is not a part of fruit and vegetable diet?
(@)  Potatoes (b)  Paneer
(c) Pears (d)  Apples
vi. The number of breaths a person takes per minute is called
(@ Blood pressure (b)  Temperature
(c)  Respiration rate (d)  Pulse rate
vii. The word *‘microorganisms’ comes from a Greek word, which means
(@  Small organism (b) Bigorganism
(c) Organism (d)  Livingorganism

viii. Which of the following is an immediate and temporary treatment given to a victim
of accident or sudden illness?

(@  Medical help (b)  Medical attention
(c) Medical aid (d) First aid

ix. Neurology is the study of
(@ Cells (b)  Nervous system

(c) Bones (d)  Muscles
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X. A state of uneasiness and apprehension about future uncertainties is called?

@ Stress (b)  Depression
(©) Anger (d)  Anxiety

Answer the following questions in one word or one sentence:

2.  List any two professionals available in a hospital. 1
3. What is pulse rate? 1
4.  What is a pathogen? 1
5. Write the full form of CPR. 1
6. What is cytology? 1
7. Name the vehicle specifically designed to transport critically sick or injured person
to a medical facility. 1
8.  What is hospital acquired infection? 1
9.  What are stressors? 1
Answer the following questions in 20-50 words:
10. What is a hospital? 2
11. List the four vital signs of life. 2
12. Differentiate between signs and symptoms. 2
13. Write any two purposes of first aid. 2
14. What is fever? Write one symptom of fever. 1+1=2
15. Differentiate between macronutrients and micronutrients with an example each.
2
16. List any four qualities of a medical receptionist. 2
17. Mention any four personality characteristics that cause anger. 2
Answer any four from the following questions in 60-100 words:
18. Explain any four types of hospitals. 4
19. Write any four objectives of a care plan. 4
20. List any four purposes of bedmaking. 4
21. Write any four roles of the housekeeping department. 4
22. Write four first aid steps to be taken for first degree burns. 4
23. Write four functions of musculoskeletal system. 4
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Automotive (Vocational)

Total marks: 50 Time: 2 hours

General instructions:

i)
i)
iii)

iv)

Approximately 15 minutes is allotted to read the question paper and revise the
answers.

All questions are compulsory except Q. nos. 18 to 23 where general option is
given.

The question paper consists of 23 questions.

Marks allocated to every question are indicated against it.

N.B: Check that all pages of the question paper are complete as indicated on the top left side.

1.
I

Vi.

Vil.

Choose the correct answer from the given alternatives: 10x1=10
Channel section of a car is made of
(@ iron (b) wood
(c) steel (d) aluminum
Which of the following is not a part of automobile body?
(@ Doors (b) Hood
(c) Decklid (d) Engine
Distance travelled by the piston in moving from TDC to BDC is known as
(@) power (b) stroke
(c) bore (d) engine torque
Multimeter is used for measuring
(@) speed (b) distance
(c) current (d) wvolume
Air filter is made of
(@ rubber (b) steel
(c) plastic (d) paper

One of the most important aspect of customer service is that of what is often
referred to as the

(a) feel good factor (b) maintenance
(c) offers (d) bonus
The full form of ABS is
(@) Airlock Braking System (b) Antilock Braking System
(c) Anti Brake System (d) AirBag System
viii. Which of the following is not an element of the communication process cycle?
(b) Channel (b) Receiver
(d) Sender (d) Time

What should a strong password consist of?
(@ Only letters

(b) Letters, numbers and special characters
(c) Name of a person

(d) Letters and numbers
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X.  Which of the following is not a major problem related to sustainable development?
(@) Development (b) Food
(c) Water (d) Fuel

Answer the following questions in one word or one sentence:

What is the full form of BDC?

What is indicated horse power (IHP)?

What is a hand tool?

List two materials required for changing of coolant.

What are hybrid cars?

In SMART goal setting, what does the letter ‘S’ stand for?
Define computer hardware.

What is sustainable development?
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Answer the following questions in 20-50 words:
10. What is chassis? Write any two classifications of chassis according to

the fitting of engine. 1+1=2
11. What is capacity of an engine? 2
12. Differentiate between outside calipers and inside calipers. 2
13. Write two reasons why air filter is important in vehicle. 2

14. What is consumer support in automobile industry? State any two important
aspects of a customer service. 1+1=2

15. Write four different types of innovation used in automobiles. 2
16. List any four qualities of successful entrepreneurs. 2
17. Write two different types of verbal communication with an example each. 2

Answer any four from the following questions in 60-100 words:

18. Mention any four advantages of tubeless tyre.

19. Briefly explain four properties of a good lubricant.

20. Explain any four different types of hand tools used in automobile workshop.
21. Describe any four steps to be followed to change engine oil.

22. Mention eight important duties of sales person in automobile dealerships
or service center. 4

23. What is stress? Explain any three simple stress management techniques.1+3=4
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